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1. #4ECBDF HBA84 BJ9ABKAOI ED98EF6 

1.1 "5M<9 CB?B:9A<S. 

(BA8 BJ9ABKAOI ED98EF6 CD98A4;A4K9A 8?S CDB69D>< D9;G?PF4FB6 BE6B9A<S 

8<EJ<C?<AO  %�*.03. �ABEFD4AAO= S;O> 6 CDBH9EE<BA4?PAB= 89SF9?PABEF< CDB7D4@@O 

CB87BFB6>< EC9J<4?<EFB6 ED98A97B ;69A4 CB EC9J<4?PABEF< 09.02.01 �B@CPRF9DAO9 

E<EF9@O < >B@C?9>EO. 

("% 6>?RK49F BJ9ABKAO9 @4F9D<4?O 8?S CDB6989A<S F9>GM97B >BAFDB?S 

GEC9649@BEF<, CDB@9:GFBKAB= 4FF9EF4J<< 6 HBD@9 8<HH9D9AJ<DB64AAB7B ;4K9F4. 

�FB7B@ 8<HH9D9AJ<DB64AAB7B ;4K9F4 S6?S9FES BJ9A>4 6 54??4I:  

5 – «BF?<KAB»; 4 – «IBDBLB»; 3 – «G8B6?9F6BD<F9?PAB»; 2 – «A9G8B6?9F6BD<F9?PAB». 

("% CB;6B?S9F BJ9A<64FP GDB69AP BE6B9A<S ;A4A<= < G@9A<=, >B@C9F9AJ<= CB 

8<EJ<C?<A9. 

$9;G?PF4FO B5GK9A<S 
(BE6B9AAO9 "� < #�) 

"EAB6AO9 CB>4;4F9?< 
BJ9A>< D9;G?PF4F4 

(BD@O < @9FB8O >BAFDB?S 
< BJ9A>< D9;G?PF4FB6 
B5GK9A<S (E CD<@9A9A<9@ 
4>F<6AOI < 
<AF9D4>F<6AOI @9FB8B6) 

"� 1.�O5<D4FP ECBEB5O 
D9L9A<S ;484K 
CDBH9EE<BA4?PAB= 
89SF9?PABEF< 
CD<@9A<F9?PAB > 
D4;?<KAO@ >BAF9>EF4@. 

 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 
6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S 
CDBH9EE<BA4?PAOI ;484K E 
EB5?R89A<9@ F9IA<>< 
59;BC4EABEF< < EB7?4EAB 
;484AAB= E<FG4J<<. 

(BA8O BJ9ABKAOI ED98EF6 
8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"�  2. �ECB?P;B64FP 
EB6D9@9AAO9 ED98EF64 
CB<E>4, 4A4?<;4 < 
<AF9DCD9F4J<< 
<AHBD@4J<< < 
<AHBD@4J<BAAO9 
F9IAB?B7<< 8?S 
6OCB?A9A<S ;484K 
CDBH9EE<BA4?PAB= 
89SF9?PABEF<. 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 
6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S 
CDBH9EE<BA4?PAOI ;484K E 
EB5?R89A<9@ F9IA<>< 
59;BC4EABEF< < EB7?4EAB 
;484AAB= E<FG4J<< 

(BA8O BJ9ABKAOI ED98EF6 
8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 3. #?4A<DB64FP < 
D94?<;B6O64FP EB5EF69AAB9 
CDBH9EE<BA4?PAB9 < 
?<KABEFAB9 D4;6<F<9, 

- 89@BAEFD4J<S 
ECBEB5ABEF< CD<A<@4FP 
D9L9A<S 6 A9EF4A84DFAOI 
< EF4A84DFAOI E<FG4J<SI < 
A9EF< ;4 A<I 

(BA8O BJ9ABKAOI ED98EF6 
8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 
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CD98CD<A<@4F9?PE>GR 
89SF9?PABEFP 6 
CDBH9EE<BA4?PAB= EH9D9, 
<ECB?P;B64FP ;A4A<S CB 
H<A4AEB6B= 7D4@BFABEF< 6 
D4;?<KAOI :<;A9AAOI 
E<FG4J<SI. 

BF69FEF69AABEFP. 

"� 4. 1HH9>F<6AB 
6;4<@B89=EF6B64FP < 
D45BF4FP 6 >B??9>F<69 < 
>B@4A89. 

- 4>F<6AB9 <ECB?P;B64A<9 6 
GK95AB= 89SF9?PABEF< 
<AHBD@4J<BAAOI < 
>B@@GA<>4J<BAAOI 
D9EGDEB6; 
- 7D4@BFAB9 D9L9A<9 
E<FG4J<BAAOI ;484K E 
CD<@9A9A<9@ 
CDBH9EE<BA4?PAOI G@9A<= 
< ;A4A<=. 

(BA8O BJ9ABKAOI ED98EF6 
8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 5. "EGM9EF6?SFP 
GEFAGR < C<EP@9AAGR 
>B@@GA<>4J<R A4 
7BEG84DEF69AAB@ S;O>9 
$BEE<=E>B= (989D4J<< E 
GK9FB@ BEB59AABEF9= 
EBJ<4?PAB7B < >G?PFGDAB7B 
>BAF9>EF4. 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 
6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S 
CDBH9EE<BA4?PAOI ;484K E 
EB5?R89A<9@ F9IA<>< 
59;BC4EABEF< < EB7?4EAB 
;484AAB= E<FG4J<< 

(BA8O BJ9ABKAOI ED98EF6 
8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 6. #DBS6?SFP 
7D4:84AE>B-
C4FD<BF<K9E>GR CB;<J<R, 
89@BAEFD<DB64FP 
BEB;A4AAB9 CB6989A<9 A4 
BEAB69 FD48<J<BAAOI 
B5M9K9?B69K9E><I 
J9AABEF9= 6 FB@ K<E?9 E 
GK9FB@ 74D@BA<;4J<< 
@9:A4J<BA4?PAOI < 
@9:D9?<7<B;AOI 
BFABL9A<=, CD<@9ASFP 
EF4A84DFO 
4AF<>BDDGCJ<BAAB7B 
CB6989A<S. 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 
6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S 
CDBH9EE<BA4?PAOI ;484K E 
EB5?R89A<9@ F9IA<>< 
59;BC4EABEF< < EB7?4EAB 
;484AAB= E<FG4J<< 

(BA8O BJ9ABKAOI ED98EF6 
8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 7. %B89=EF6B64FP 
EBID4A9A<R B>DG:4RM9= 
ED98O, 
D9EGDEBE59D9:9A<R, 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 

(BA8O BJ9ABKAOI ED98EF6 
8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
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CD<@9ASFP ;A4A<S B5 
<;@9A9A<< >?<@4F4, 
CD<AJ<CO 59D9:?<6B7B 
CDB<;6B8EF64, QHH9>F<6AB 
89=EF6B64FP 6 
KD9;6OK4=AOI E<FG4J<SI. 

6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S 
CDBH9EE<BA4?PAOI ;484K E 
EB5?R89A<9@ F9IA<>< 
59;BC4EABEF< < EB7?4EAB 
;484AAB= E<FG4J<< 

EC9J<4?PABEF< 

"� 8. �ECB?P;B64FP 
ED98EF64 H<;<K9E>B= 
>G?PFGDO 8?S EBID4A9A<S < 
G>D9C?9A<S ;8BDB6PS 6 
CDBJ9EE9 
CDBH9EE<BA4?PAB= 
89SF9?PABEF< < 
CB889D:4A<S 
A9B5IB8<@B7B GDB6AS 
H<;<K9E>B= 
CB87BFB6?9AABEF<. 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 
6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S 
CDBH9EE<BA4?PAOI ;484K E 
EB5?R89A<9@ F9IA<>< 
59;BC4EABEF< < EB7?4EAB 
;484AAB= E<FG4J<< 

(BA8O BJ9ABKAOI ED98EF6 
8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

"� 9. "D<9AF<DB64FPES 6 
GE?B6<SI K4EFB= E@9AO 
F9IAB?B7<= 6 
CDBH9EE<BA4?PAB= 
89SF9?PABEF<. 

 

- %6B96D9@9AABEFP 
6OCB?A9A<S ;484A<=; 
- D4J<BA4?PAB9 
D4ECD989?9A<9 6D9@9A< A4 
6E9I QF4C4I D9L9A<S ;484K; 
- 6O5BD @9FB84 < ECBEB54 
D9L9A<S 
CDBH9EE<BA4?PAOI ;484K E 
EB5?R89A<9@ F9IA<>< 
59;BC4EABEF< < EB7?4EAB 
;484AAB= E<FG4J<< 

(BA8O BJ9ABKAOI ED98EF6 
8?S F9>GM9= < 
CDB@9:GFBKAB= 
4FF9EF4J<< CB 
EC9J<4?PABEF< 

 

#DB7D4@@4 6BEC<F4A<S 6 D45BK9= CDB7D4@@9 8<EJ<C?<AO BFD4:49FES K9D9; 

EB89D:4A<9 A4CD46?9A<= 6BEC<F4F9?PAB= D45BFO, D4;5<FOI A4 E?98GRM<9 6BEC<F4F9?PAO9 

@B8G?<: 

 B8G?< CDB7D4@@O 
6BEC<F4A<S 

%B89D:4A<9 @B8G?S CDB7D4@@O 6BEC<F4A<S 

 B8G?P 1 
«#DBH9EE<BA4?PAB-
?<KABEFAB9 6BEC<F4A<9» 

Ц9?P @B8G?я: EB;84FP GE?B6<S 8?S HBD@<DB64A<S 
CE<IB?B7<K9E>B= < CD4>F<K9E>B= 7BFB6ABEF< B5GK4RM<IES > 
BEGM9EF6?9A<R FDG8B6B= 89SF9?PABEF< CB 6O5D4AAB= 
CDBH9EE<<, C?4A<DB64A<9 ?<KABEFAB7B CDBH9EE<BA4?PAB7B 
DBEF4.  
З484G8 @B8G?я: 

 A4GK<FP BEGM9EF6?SFP CB<E> < <ECB?P;B64A<9 
<AHBD@4J<<, A9B5IB8<@B= 8?S QHH9>F<6AB7B 
6OCB?A9A<S CDBH9EE<BA4?PAOI ;484K, 
CDBH9EE<BA4?PAB7B < ?<KABEFAB7B D4;6<F<S;  

 A4GK<FP BD<9AF<DB64FPES 6 GE?B6<SI E@9AO F9IAB?B7<= 
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6 CDBH9EE<BA4?PAB= 89SF9?PABEF<;  

 HBD@<DB64FP CBA<@4A<9 EGMABEF< < EBJ<4?PAB= 
;A4K<@BEF< 5G8GM9= CDBH9EE<<, GEFB=K<6O= <AF9D9E > 
A9=;  

 D4;6<64FP G@9A<9 BD74A<;B6O64FP EB5EF69AAGR 
89SF9?PABEFP, 6O5<D4FP F<CB6O9 @9FB8O < ECBEB5O 
6OCB?A9A<S CDBH9EE<BA4?PAOI ;484K, BJ9A<64FP <I 
QHH9>F<6ABEFP < >4K9EF6B. 

 B8G?P 2 
 «�D4:84AE>B-
C4FD<BF<K9E>B9 
6BEC<F4A<9» 

Ц9?P @B8G?я: EB;84FP GE?B6<S 8?S HBD@<DB64A<S EBJ<4?PAOI < 
?<KABEFAOI >4K9EF6 B5GK4RM<IES, 8?S A4<5B?99 CB?AB= <I 
D94?<;4J<< A4 5?47B B5M9EF64, 6BEC<F4A<9 7D4:84A<A4, 
C4FD<BF4 E6B9= $B8<AO, 7BFB6B7B > ;4M<F9 "F9K9EF64. 
З484G8 @B8G?я: 

 HBD@<DB64FP J9AABEFAB9 BFABL9A<9 > $BEE<<, E6B9@G 
A4DB8G, 7BEG84DEF69AAB= E<@6B?<>9, ;4>BA4@ $( A4 
CD<@9D4I <ECB?A9A<S 7D4:84AE>B7B < C4FD<BF<K9E>B7B 
8B?74 DBEE<=E><I 7D4:84A; 

 D4;6<FP G EFG89AFB6 ECBEB5ABEFP > E4@BD94?<;4J<< 
K9D9; 6>?RK9A<9 <I 6 B5M9EF69AAGR < >G?PFGDAGR 
:<;AP; 

 HBD@<DB64FP >4K9EF64 7D4:84A<A4 < C4FD<BF4 K9D9; 
EB;84A<9 6B9AAB-C4FD<BF<K9E>B7B B5N98<A9A<S. 

 B8G?P 3 «(<;<K9E>4S 
>G?PFGD4 < 
;8BDB6P9E59D9:9A<9» 

Ц9?P @B8G?я: EB;84FP GE?B6<S 8?S D4;6<F<S G B5GK4RM<IES, 
@BF<64J<BAAB - J9AABEFAB9 BFABL9A<9 > H<;<K9E>B= >G?PFGD9, 
GEF4AB6>G A4 ;8BDB6O= B5D4; :<;A<, H<;<K9E>B9 
E4@BEB69DL9AEF6B64A<9 < E4@B6BEC<F4A<9, CBFD95ABEFP 6 
D97G?SDAOI ;4ASF<SI H<;<K9E><@< GCD4:A9A<S@<. 
З484G8 @B8G?я: 

 A4GK<FP CD<ASFO@ 6 B5M9EF69 CD46<?4@ < ABD@4@ 
CDBH<?4>F<>< < EBID4A9A<S ;8BDB6PS: EB@4F<K9E>B7B, 
H<;<K9E>B7B, CE<IB?B7<K9E>B7B, 8GIB6AB- 
AD46EF69AAB7B, EBJ<4?PAB7B;  

 EHBD@<DB64FP J9AABEFAB9 BFABL9A<9 > >G?PFGD9 
;8BDB6PS < ;8BDB6B@G B5D4;G :<;A<, > EBID4A9A<R, 
CDBH<?4>F<>9 < G>D9C?9A<R ;8BDB6PS;  

 CBCG?SD<;<DB64FP ED98< B5GK4RM<IES J9AABEF< 
>G?PFGDO ;8BDB6PS < ;8BDB6B7B B5D4;4 :<;A< 6 
EB5EF69AAB= E9@P9. 

 B8G?P 4 «�G?PFGDAB-
F6BDK9E>B9 6BEC<F4A<9» 
 

Ц9?P @B8G?я: EB;84FP GE?B6<S 8?S D4;6<F<S F6BDK9E><I 
ECBEB5ABEF9= B5GK4RM<IES, EBID4A9A<S ?GKL<I 8GIB6AOI 
FD48<J<=, A4J<BA4?PAB= >G?PFGDO.  
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З484G8 @B8G?я: 
 A4GK<FP CD<ASFO@ 6 B5M9EF69 CD46<?4@ < ABD@4@ 
CB6989A<S;  

 D4;6<64FP F6BDK9E><9 ECBEB5ABEF< EFG89AFB6 
CBED98EF6B@ <I 6B6?9K9A<S 6 >G?PFGDAB @4EEB6O9 
@9DBCD<SF<S;  

 HBD@<DB64FP CDBJ9EE CB6OL9A<S B5M97B >G?PFGDAB7B 
GDB6AS B5GK4RM<IES K9D9; CD<B5M9A<9 > @<DB6O@ 
>G?PFGDAO@ FD48<J<S@, EB6D9@9AAB@G <E>GEEF6G. 

 B8G?P 5 
«1>B?B7<K9E>B9 
6BEC<F4A<9» 
 

Ц9?P @B8G?я: EB;84FP GE?B6<S 8?S HBD@<DB64A<S G 
B5GK4RM<IES ECBEB5ABEF< > 4>F<6AB= CD<DB8BBID4AAB= 
89SF9?PABEF<, K9D9; E<EF9@G Q>B?B7<K9E>B7B B5D4;B64A<S < 
6BEC<F4A<S. 
З484G8 @B8G?я: 

 A4GK<FP EB;A464FP CD<DB8G >4> ED98G E6B97B B5<F4A<S, 
A9B5IB8<@BEFP <ECB?P;B64FP ;A4A<S B CD<DB89 E J9?PR 
99 EBID4A9A<S, <ECB?ASFP Q>B?B7<K9E><9 B5S;4AABEF< 
7D4:84A; 

 HBD@<DB64FP 7D4:84AE>GR CB;<J<R 6 D9L9A<< 
Q>B?B7<K9E><I CDB5?9@;  

 D4;6<64FP Q>B?B7<K9E>GR BF69FEF69AABEFP, A4 BEAB69 
E<EF9@AOI ;A4A<= B5 Q>B?B7<K9E><I CDB5?9@4I 
EB6D9@9AABEF<;  

 6B6?9>4FP 6 6B?BAF9DE>B9 86<:9A<9 >B??98:4. 

 B8G?P 6 
«#DBH<?4>F<>4 
EBJ<4?PAB-A974F<6AOI 
S6?9A<=» 
 

Ц9?P @B8G?я: EB;84FP E<EF9@G CD98GCD98<F9?PAB-
CDBH<?4>F<K9E>B= 89SF9?PABEF<, ECBEB5EF6GRM9= 
HBD@<DB64A<R G B5GK4RM<IES CD98EF46?9A<= B ABD@4I 
EBJ<4?PAB7B CB6989A<S, CBASF<S ;8BDB6B=, A9 E>?BAAB= > 
CD46BA4DGL9A<S@ ?<KABEF<. 
З484G8 @B8G?я: 

 EB;84FP GE?B6<S 8?S D4;6<F<S CB;<F<6AOI <AF9D9EB6, 
EBJ<4?PAOI A46O>B6 < >B@C9F9AFABEFAB7B BFABL9A<S > 
EB5EF69AAB@G ;8BDB6PR; 

 BD74A<;B64FP CD46B6B9 CDBE69M9A<9 B5GK4RM<IES 
(E<EF9@4 CDBE69F<F9?PE><I @9DBCD<SF<=);  

 D94?<;B64FP CDB7D4@@O CDBH<?4>F<K9E>B= 
A4CD46?9AABEF<;  

 ECBEB5EF6B64FP CDB6989A<R CDBH<?4>F<K9E><I 
@9DBCD<SF<= E<?4@< BD74AB6 EFG89AK9E>B7B 
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E4@BGCD46?9A<S. 

 

 

  1.3. %<EF9@4 >BAFDB?S < BJ9A>< BE6B9A<S CDB7D4@@O GK95AB= 8<EJ<C?<AO 

 

         �BAFDB?P >4K9EF64 BE6B9A<S GK95AB= 8<EJ<C?<AO 6>?RK49F 6 E95S F9>GM<= 

>BAFDB?P GEC9649@BEF< < CDB@9:GFBKAGR 4FF9EF4J<R. &9>GM<= >BAFDB?P GEC9649@BEF< < 

CDB@9:GFBKA4S 4FF9EF4J<S B5GK4RM<IES CDB6B8SFES 6 J9?SI GEF4AB6?9A<S EBBF69FEF6<S 

8BEF<:9A<= B5GK4RM<IES FD95B64A<S@ B5D4;B64F9?PAB= CDB7D4@@O > D9;G?PF4F4@ 

B5GK9A<S < HBD@<DB64A<S >B@C9F9AJ<=.  

(BD@B= CDB@9:GFBKAB= 4FF9EF4J<< CB GK95AB= 8<EJ<C?<A9 S6?S9FES 

8<HH9D9AJ<DB64AAO= ;4K9F, >BFBDO= CDB6B8<FES 6 HBD@9 F9EF<DB64A<S CB <;GK9AAO@ 

F9@4@. 

(BD@4@< F9>GM97B >BAFDB?S S6?SRFES 6OCB?A9A<9 BJ9ABKAOI ;484A<=, 

>BAFDB?PAOI D45BF. 

 

 

�@8B5@88 8 H:0;O >F5=820=8S  
?@8 ?@>2545=88 B5:CI53> :>=B@>;S 8 ?@><56CB>G=>9 0BB5AB0F88: 

,>4?O BJ9A<64A<S �D<F9D<< BJ9A<64A<S 

«BF?<KAB» 

"5GK4RM<=ES CD46<?PAB BF69F<? A4 F9BD9F<K9E><9 < 
CD4>F<K9E><9  6BCDBEO. #B>4;4? BF?<KAO9 ;A4A<S 6 D4@>4I 
GK95AB7B @4F9D<4?4. #B>4;4? BF?<KAO9 G@9A<S < 6?489A<S 
A46O>4@< CD<@9A9A<S CB?GK9AAOI ;A4A<= < G@9A<= CD< 
6OCB?A9A<< GCD4:A9A<=, <AOI ;484A<=. "F69F<? A4 6E9 
8BCB?A<F9?PAO9 6BCDBEO 

«IBDBLB» 

"5GK4RM<=ES E A95B?PL<@< A9FBKABEFS@< BF69F<? A4 
F9BD9F<K9E><9 6BCDBEO, CB>4;4? IBDBL<9 ;A4A<S 6 D4@>4I 
GK95AB7B @4F9D<4?4. �OCB?A<?  E A95B?PL<@< A9FBKABEFS@< 
CD4>F<K9E><9 ;484A<S. #B>4;4? IBDBL<9 G@9A<S < 6?489A<S 
A46O>4@< CD<@9A9A<S CB?GK9AAOI ;A4A<= < G@9A<= CD< 
B6?489A<< GK95AB7B @4F9D<4?4. "F69F<? A4 5B?PL<AEF6B 
8BCB?A<F9?PAOI 6BCDBEB6 

«G8B6?9F6BD<F9?PAB» 

"5GK4RM<=ES E EGM9EF69AAO@< A9FBKABEFS@< BF69F<? A4 
F9BD9F<K9E><9 6BCDBEO. #B>4;4? G8B6?9F6BD<F9?PAO9 ;A4A<S 6 
D4@>4I GK95AB7B @4F9D<4?4. % EGM9EF69AAO@< A9FBKABEFS@< 
6OCB?A<? CD4>F<K9E><9 ;484A<S. #B>4;4? G8B6?9F6BD<F9?PAO9  
G@9A<S < 6?489A<S A46O>4@< CD<@9A9A<S CB?GK9AAOI ;A4A<= < 
G@9A<= CD< B6?489A<< GK95AB7B @4F9D<4?4. �BCGEF<? @AB7B 
A9FBKABEF9= CD< BF69F9 A4 8BCB?A<F9?PAO9 6BCDBEO 

«A9G8B6?9F6BD<F9?PAB» 

"5GK4RM<=ES CD< BF69F9 A4 F9BD9F<K9E><9 6BCDBEO < CD< 
6OCB?A9A<< CD4>F<K9E><I ;484A<= CDB89@BAEFD<DB64? 
A98BEF4FBKAO= GDB69AP ;A4A<= < G@9A<= CD< D9L9A<< ;484K 6 
D4@>4I GK95AB7B @4F9D<4?4. #D< BF69F4I A4 8BCB?A<F9?PAO9 
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6BCDBEO 5O?B 8BCGM9AB @AB:9EF6B A9CD46<?PAOI BF69FB6 
 

 

#@>3@0<<0 :>=B@>;P=>->F5=>G=OE <5@>?@8SB89 70 ?5@8>4 87CG5=8S ?> 
48AF8?;8=5 

 

 

№ 

!4<@9AB64A<9 
>BAFDB?PAB-
BJ9ABKAB7B 
@9DBCD<SF<S 

"5N9>F >BAFDB?S 
(F9@4 />B@C9F9AJ<<, @B8G?< CDB7D4@@O 

6BEC<F4A<S) 

!4<@9AB64A<9 
BJ9ABKAB7B 
ED98EF64 

(HBD@4 CDB6989A<S) 

1.1 
&9>GM<= 
>BAFDB?P &9@4: «"5D4;B64A<9» 

"�-1 

 B8G?P 
1,4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (GEFAB) 

1.2 
&9>GM<= 
>BAFDB?P 

&9@4: «"ID4A4 B>DG:4RM9= 
ED98O» 

"�-2 "�-4 

 B8G?P 
1,5 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.3 
&9>GM<= 
>BAFDB?P &9@4: «%D98EF64 >B@@GA<>4J<<» 

"�-3 

 B8G?P 1, 
4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.4 
&9>GM<= 
>BAFDB?P 

&9@4: «�AHBD@4J<BAAB-
;46<E<@B9 B5M9EF6B» 

"�-2 "�-3 

 B8G?P 
1,3  

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.5 
&9>GM<= 
>BAFDB?P 

&9@4: «$4;6<F<9 
@<>DBQ?9>FDBA<><» 

"�-4  

"�-8 

 B8G?P 1, 
4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.6 
&9>GM<= 
>BAFDB?P &9@4: «�EFBD<S >B@CPRF9DB6» 

"�-1 "�-2 

"�-3 "�-6 

"�-7 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (D45BF4 6 
7DGCC4I) 

1.7 
&9>GM<= 
>BAFDB?P 

&9@4: «%<EF9@O B5D45BF>< 
<AHBD@4J<< 

"�-1, "�-

8 

 B8G?P 
1,4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB)  

1.8 
&9>GM<= 
>BAFDB?P &9@4: «�B@CPRF9DAO9 E<EF9@O» 

"�-2 "�-5 

 B8G?P 1, 
4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 
  

1.9 
&9>GM<= 
>BAFDB?P 

&9@4: «%6B=EF64 J<HDB6OI 
>B@CPRF9DB6» 

"�-2 "�-8 

 B8G?P 
1,4 

!4C<E4A<9  E?B64DAB7B 
8<>F4AF4 A4 
<ECB?P;B64A<9 
>B@CPRF9DAB= ?9>E<><. 

1.10 
&9>GM<= 
>BAFDB?P 

&9@4: «"D74A<;4J<S 
@<>DB>B@CPRF9DAB= E<EF9@O» 

"�-2 

"�-8 

 B8G?P 
1,4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.11 
&9>GM<= 
>BAFDB?P 

&9@4: «�4CB@<A4RM<9 
GEFDB=EF64» 

"�-2 

"�-8 

 B8G?P 
1,4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.12 
&9>GM<= 
>BAFDB?P &9@4: «#DB7D4@@<DB64A<9» "�-2 

"�-8 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 
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 B8G?P 
1,4 

1.13 
&9>GM<= 
>BAFDB?P &9@4: «#D46<F9?< $BEE<< » 

"�-2 "�-8 

 B8G?P 1, 
3, 4 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.14 
&9>GM<= 
>BAFDB?P 

&9@4:  «%<EF9@4 
7BEG84DEF69AAB7B GCD46?9A<S» 

"� 2 
"� 4 

 B8G?P 1, 
4,5 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

1.15 
&9>GM<= 
>BAFDB?P 

&9@4: « 9A98:@9AF < 
@9A98:9DO», «'EFDB=EF6B A4 
D45BFG» 

"� 2 "� 4 
 B8G?P 

1,3,5 

�OCB?A9A<9 BJ9ABKAB7B 
;484A<S (C<EP@9AAB) 

2.1 
#DB@9:GFBKA4S 
4FF9EF4J<S 

$4;89?O 8<EJ<C?<AO "�%1.03. 
�ABEFD4AAO= S;O> (2 >GDE, 3-4 

E9@9EFDO) 

"�-1- 

"�-9 

 B8G?P 
1,3,4 

�OCB?A9A<9 
>BAFDB?PAB7B F9EFB6B7B 
;484A<S (C<EP@9AAB) 
�<HH9D9AJ<DB64AAO= 
;4KTF 

2.2 
#DB@9:GFBKA4S 
4FF9EF4J<S 

$4;89?O 8<EJ<C?<AO "�%1.03. 
�ABEFD4AAO= S;O> (3 >GDE, 5-6 

E9@9EFDO) 

"�- 1 – 
"�-9 

 B8G?P 
1,3,4 

�OCB?A9A<9 
>BAFDB?PAB7B F9EFB6B7B 
;484A<S (C<EP@9AAB) 
�<HH9D9AJ<DB64AAO= 
;4KTF 

2.3 
#DB@9:GFBKA4S 
4FF9EF4J<S 

$4;89?O 8<EJ<C?<AO "�%1.03. 
�ABEFD4AAO= S;O> (4 >GDE, 7-8 

E9@9EFDO) 

"�-1 – 
"�-9 

 B8G?P 1-
4 

�OCB?A9A<9 
>BAFDB?PAB7B F9EFB6B7B 
;484A<S (C<EP@9AAB) 
�<HH9D9AJ<DB64AAO= 
;4KTF 
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2. "?8A0=85 ?>:070B5;59 8 :@8B5@852 >F5=820=8S, >?8A0=85 H:0; >F5=820=8S 

 

�BAFDB?P >4K9EF64 BE6B9A<S 8<EJ<C?<AO 6>?RK49F 6 E95S F9>GM<= >BAFDB?P 
GEC9649@BEF< < CDB@9:GFBKAGR 4FF9EF4J<R. &9>GM<= >BAFDB?P GEC9649@BEF< < 
CDB@9:GFBKA4S 4FF9EF4J<S CDB6B8SFES 6 J9?SI GEF4AB6?9A<S EBBF69FEF6<S 8BEF<:9A<= 
B5GK4RM<IES FD95B64A<S@ B5D4;B64F9?PAB= CDB7D4@@O > D9;G?PF4F4@ B5GK9A<S < 
HBD@<DB64A<S >B@C9F9AJ<=. 
$9;G?PF4FO BJ9A<64A<S F9>GM97B >BAFDB?S ;4ABESFES CD9CB8464F9?9@ 6 :GDA4? < @B7GF 
GK<FO64FPES CD< CDB6989A<< CDB@9:GFBKAB= 4FF9EF4J<<. 
�?S BJ9A<64A<S D9;G?PF4FB6 B5GK9A<S <ECB?P;G9FES K9FODTI54?PA4S L>4?4: «BF?<KAB», 
«IBDBLB», «G8B6?9F6BD<F9?PAB», «A9G8B6?9F6BD<F9?PAB». 
#9D9K9AP BJ9ABKAOI ED98EF6  CD98EF46?9A 6 A<:9E?98GRM9= F45?<J9.  
 

 

                              #5@5G5=P >F5=>G=OE A@54AB2 
 

№ !4<@9AB64A<9 
HBA8B6 BJ9ABKAOI 
ED98EF6 

�D4F>4S I4D4>F9D<EF<>4 HBA8B6 
BJ9ABKAOI ED98EF6 

#D98EF46?9A<9 
HBA8B6 BJ9ABKAOI 
@4F9D<4?B6 6 ("% 

                                  &5:CI89 :>=B@>;P CA?5205<>AB8 

1. �OCB?A9A<9 
>BAFDB?PAOI 
;484A<= CB 
BE6B9AAB= F9@9 

%D98EF6B 8?S CDB69D>< G@9A<= 
CD<@9ASFP CB?GK9AAO9 ;A4A<S CB 
BE6B9AAB= F9@9 8<EJ<C?<AO. 
$9>B@9A8G9FES 8?S BJ9A>< ;A4A<=, 
G@9A<= < 6?489A<= B5GK4RM<IES. 

�484A<S CB F9@4@ 
8<EJ<C?<AO. 

2. �BAFDB?PA4S D45BF4 
6 HBD@9 F9EF4  (&9EF) 

%D98EF6B 8?S CDB69D>< ?9>E<K9E>B7B < 
7D4@@4F<K9E>B7B @<A<@G@4, 
A9B5IB8<@B7B 8?S KF9A<S < C9D96B84 
<ABEFD4AAOI F9>EFB6 
CDBH9EE<BA4?PAB= A4CD46?9AABEF<. 
$9>B@9A8G9FES 8?S BJ9A>< ;A4A<=, 
G@9A<= < 6?489A<= B5GK4RM<IES. 

�BAFDB?PAO9 
(F9EFB6O9) ;484A<S 
CB F9@4@ 
8<EJ<C?<AO 

3. �<>F4AF %D98EF6B 8?S CDB69D>< G@9A<S 
B5M4FPES C<EP@9AAB A4 <ABEFD4AAB@ 
S;O>9 A4 CDBH9EE<BA4?PAO9 < 
CB6E98A96AO9 F9@O, E4@BEFBSF9?PAB 
EB69DL9AEF6B64FP C<EP@9AAGR D9KP, 
CBCB?ASFP E?B64DAO= ;4C4E. 
$9>B@9A8G9FES 8?S BJ9A>< ;A4A<=, 
G@9A<= < 6?489A<= B5GK4RM<IES. 

&9>EFO 8<>F4AFB6 

                                         #@><56CB>G=0S 0BB5AB0F8S 
4. �4KTF %D98EF6B, CB;6B?SRM99 BJ9A<FP 

;A4A<S, G@9A<S < 6?489A<S 
B5GK4RM97BES CB 8<EJ<C?<A9. 
$9>B@9A8G9FES 8?S BJ9A>< ;A4A<=, 
G@9A<= < 6?489A<= A46O>4@< 
B5GK4RM<IES.. 

&9EFB6O9 ;484A<S > 
;4KTFG. 
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3. (>=4O >F5=>G=OE A@54AB2 4;S B5:CI53> :>=B@>;S  

 

&5<0 1.1 : « "1@07>20=85» 
 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (GEFAB) 

 

Read the sentences, point out the Continuous Tenses. Give the Russian equivalents. 

#@>G8B09B5 ?@54;>65=8S, >?@545;8B5 2@5<5=0 3@C??O Continuous. �09B5 
@CAA:85 Q:2820;5=BO. 

 

1. We use this scheme when we are discussing the problem.  

2. Now he is sitting at the lesson. 

3. These learners are working now at about the same speed as their classmates. 

4. At 10 o’clock tomorrow he will be taking the exam. 

5. He is watching TV at the moment. 

6. Primary school pupils are being taught such skills as reading, writing, and arithmetic. 

7. They were receiving instructions in different subjects the whole month. 

8. At the moment the pictures are being described by the pupils. 

9. He was visiting the museum from 4 till 6 o’clock yesterday. 
10. The classes are being attended by the students all the term. 

 

 
&5<0 1.2 «"E@0=0 >:@C60RI59 A@54O» 
 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 
 

Continue the following statements. 

#@>4>;68B5 A;54CRI85 CB25@645=8S 
 

1. The forest protects the Earth from erosion &&.. . 
2. Under the branches of higher trees, there are &&.. . 
3. When man breathes, he &&& . 
4. During the photosynthesis &&& . 
5. In his activity, man needed timber &&&.. . 
6. Recently scientists have found out that ecological crises &&& 

7. If the forest is destroyed because of commercial interests &&.. . 
8. Our country protects forests: in 1942 &&& 

9. Because of people forest fires take place, and if will take &&. 
10. Only if we take care of Earth &&&. . 

 

 

&5<0 1.3. « %@54AB20 :><<C=8:0F88» 
 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 
 

Make a sentence out of the two parts. 

%>AB02PB5 ?@54;>65=8S. 
 

1. The first black-and-white nine-by- 1. has been replaced by colour 
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by-twelve inch TV sets 

2. In a surprisingly short time 

 

 

3. At present 

 

4. Satellite and cable TV make it 

possible 

5. Recently black-and-white TV 
 

 

6. The next major advance in  
 

 

7. The invention of high definition 

television with a picture resembling a 

wide screen film 

television  

2. the development of TV became 

digital television in which the usual 

signal is replaced by a digital code. 

3. were of historical importance in 

1939 

4. television has had great influence 

on people’s life and way of thinking 
5. is the most important stage in the 

development of TV since the 

appearance of colour television 

6. to watch TV programs in different 

parts of the country and throughout 

the world 

7. there are different kinds of 

television systems: satellite, cable, 

colour, pocket-size, digital, high-

definitional television 

 

 

 

&5<0 1.4 «�=D>@<0F8>==>-7028A8<>5 >1I5AB2>» 
 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (D45BF4 6 7DGCC4E) 

 

Give definition to: 

"1AC48BP 2 3@C??0E (?> 4 G5;>25:0) 8 40BP >?@545;5=85 :064><C B5@<8=C: 
 

A computer whiz (whizard), a hacker, a computer-literate person, a computer science student, a 

computer engineer, a computer programmer, a computer operator. 

e.g. a system analyst is a person who identifies the information needed and develops a 

management info system with the assistance of computer programs 

 

&5<0 1.5 « $0728B85 <8:@>Q;5:B@>=8:8» 
 
ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 
 

Read and translate the text in writing. 

#@>GB8B5 B5:AB 8 >703;02PB5 53>. �O?>;=8B5 ?8AP<5==O9 ?5@52>4 B5:AB0 (?> 
20@80=B0<). 
 

                                   �0@80=B 1 
 

1. It is well known that the quick development of electronics began with the invention of 

transistors. They replaced electronic tubes due to their numerous advantages. One of the 

main advantages of the transistors in comparison with the vacuum tube is absence of 

filament power loss. One of the principal causes of damages in electronic circuitry is high 

temperature. The heat causes breakdown of tubes and other circuit elements that are very 

sensitive to this influence. The transistor, on the other hand, does not heat its 

surroundings. 



 15 

Another advantage of the transistor is its long life. The life of the average transistor is 

more than ten thousand operating hours. Because of its long lifetime and ruggedness, the 

transistor is very reliable and has much better efficiency in professional equipment. 

 

 

                         �0@80=B 2 
 

2. As we know, transistors replaced electronic tubes due to their numerous advantages. One 

of the advantages of the transistor is its small dimensions. Because of their small size, the 

absence of heating and other properties, transistors make it possible to produce compact, 

small-dimensioned electronic devices which consume very little power. 

In conclusion it is important to note that transistors revolutionized many fields of 

technology. They are successfully used for direct transformation of heat energy by means 

of thermal elements. They are also used to convert radiant energy into electricity with the 

help of photocells or solar batteries. Light sources and lasers are built on the basis of 

transistors. They find wide application in computers, automatic devices, aviation, 

communication, etc. 

 

&5<0 1.6  « �AB>@8S :><?PRB5@>2» 
 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 

 

Choose the right translation 

�O15@8B5 ?@028;P=O9 ?5@52>4 ?@54;>65=89, A>45@60I8E =5;8G=O5 D>@<O 3;03>;0 
(Infinitive, Gerund, Participle I, Participle II) 

 

1. That was the machine provided with the necessary facts about the problem to be solved. 

a)  4L<AG B59EC9K<?< A9B5IB8<@O@< H4>F4@<, KFB5O BA4 D9L<?4 QFG CDB5?9@G. 
b) &B 5O?4 @4L<A4, EA45:TAA4S A9B5IB8<@B= <AHBD@4J<9= B ;484K9, >BFBDGR 
CD98EFBS?B D9L<FP. 

c) 1FG @4L<AG B59EC9K<?< A9B5IB8<@B= <AHBD@4J<9= B D9L49@B= ;484K9. 
2. The computers designed to use IC were called third generation computers. 

4) �B@CPRF9DO E>BAEFDG<DB64?< 8?S <ECB?P;B64A<S �% < A4;64?< <I FD9FP<@ 
CB>B?9A<9@. 
b) �B@CPRF9DO A4;O64?<EP FD9FP<@ CB>B?9A<9@, CBFB@G KFB 6 A<I <ECB?P;B64?<EP 
�%. 
c) �B@CPRF9DO, E>BAEFDG<DB64AAO9, KFB5O <ECB?P;B64FP �%, A4;O64?<EP 
>B@CPRF9D4@< FD9FP97B CB>B?9A<S. 

       3.  Mark I was the first machine to figure out mathematical problems. 

            4) #9D64S @4L<A4 8?S 6OK<E?9A<S @4F9@4F<K9E><I CDB5?9@ 5O?4  4D> 1. 
            b)  4D> 1 S6<?4EP C9D6B= @4L<AB= 8?S 6OK<E?9A<S @4F9@4F<K9E><I ;484K. 
            c)  4D> 1 5O?4 C9D6B= @4L<AB=, >BFBD4S 6OK<E?S?4 @4F9@4F<K9E><9 ;484K<. 
       4. Early computers using vacuum tubes could perform computations in milliseconds. 

             a) #9D6O9 >B@CPRF9DO, <ECB?P;GRM<9 Q?9>FDBAAO9 ?4@CO, @B7?< 6OCB?ASFP 
6OK<E?9A<S 6 F9K9A<9 @<??<E9>GA8. 
              b) $4AA<9 >B@CPRF9DO <ECB?P;B64?< 64>GG@AO9 ?4@CO, >BFBDO9 6OCB?AS?< 
6OK<E?9A<S ;4 @<??<E9>GA8O. 
              c) $4AB >B@CPRF9DO, <ECB?P;GRM<9 Q?9>FDBAAO9 FDG5><, 6OCB?AS?< 6OK<E?9A<S 
;4 @<??<E9>GA8O. 
         5. Vacuum tubes to control and amplify electric signals were invented by Neumann. 

               a) �;B5D9FTAAO9 !B=@4AB@ 64>GG@AO9 ?4@CO D97G?<DB64?< < GE<?<64?< 
Q?9>FD<K9E><9 E<7A4?O. 
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               b) !B=@4A <;B5DT? Q?9>FDBAAO9 ?4@CO 8?S GCD46?9A<S < GE<?9A<S Q?9>FD<K9E><I 
E<7A4?B6. 
               c) 1?9>FDBAAO9 ?4@CO, >BFBDO9 D97G?<DB64?< < GE<?<64?< Q?9>FD<K9E><9 
E<7A4?O, 5O?< <;B5D9F9AO !B=@4AB@. 
            6. Neumann’s machine called the EDVAC was designed to store both data and 
instructions. 

          a) !B=@4AB6E>GR @4L<AG, A4;O649@GR EDVAC, E>BAEFDG<DB64?< 8?S ID4A9A<S 
<AHBD@4J<< < >B@4A8. 
           b)  4L<A4 !B=@4A4, A4;64AA4S EDVAC, 5O?4 EB;84A4, KFB5O ;4CB@<A4FP >4> 
<AHBD@4J<R, F4> < >B@4A8O. 
           c)  4L<AG !B=@4A4, >BFBD4S ID4A<?4 84AAO9 < <AEFDG>J<<, A4;64?< EDVAC. 

7. Computers were developed to perform calculations for military and scientific purposes. 

                 4) �B@CPRF9DO 5O?< EB;84AO, KFB5O 6OCB?ASFP 6OK<E?9A<S 8?S 6B9AAOI < 
A4GKAOI J9?9=. 
                  b) �B@CPRF9DO EB;84?< 8?S 6OCB?A9A<S 6B9AAOI < A4GKAOI 6OK<E?9A<=. 
                  c) %B;84AAO9 >B@CPRF9DO 6OCB?AS?< 6OK<E?9A<S 6B9AAB7B < A4GKAB7B 
A4;A4K9A<S. 
 

&5<0 1.7 «%8AB5<O >1@01>B:8 8=D>@<0F88» 
 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 
Translate the chains of nouns. 

#5@52548B5 A;54CRI85 F5?>G:8 2O@065=89. 

 

 A programmable machine; data resource; input devices; output devices; to access the computer 

contents; a list of instructions; to be stored in files; to store data temporary; storage resource; 

network resource; security resource; system resource. Communication facilities, data base 

facilities, display facilities, management facilities. 

Rigid disk; large amount of data; to install the program; to create folders; hard disk; identify the 

file type; store & transfer information; to insert a floppy –disk; program control. 

Computer storage; laser storage; file storage; disk storage; data storage hierarchy. 

Character sequence, instruction sequence; message sequence; pulse sequence. 

Batch file, catalog file, data file; help file; input file; output file; menu file; user file. 

Command input; data input; disk input; file input; keyboard input; program input. 

 

 

&5<0 1.8 «�><?PRB5@=O5 A8AB5<O» 
 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 
 

Give English equivalents. 

�A?>;P7CS ��&, =0948B5 0=3;89A:85 Q:2820;5=BO A;54CRI8E A;>2>A>G5B0=89. 
 

#DB7D4@@<DG9@4S @4L<A4; EC<EB> CDB7D4@@; ID4A<FES 6 H4=?4I; 6OCB?AS9F ;484KG; 
HGA>J<< 66B84, ID4A9A<S, B5D45BF><, GCD46?9A<S < 6O6B84 <AHBD@4J<<; 6D9@9AAB 
ID4A<FP 84AAO9; E<EF9@AO9 5?B><; GEFDB=EF64 8?S ID4A9A<S; 6ECB@B74F9?PAO9 
GEFDB=EF64, D4;D45BFK<> >B@CPRF9DAB= E<EF9@O; IBDBL4S >B@CPRF9DA4S CB87BFB6>4; 
D4;?<KAO9 EH9DO CD<@9A9A<S; 66B8<FP 84AAO9 6 >B@CPRF9D; CD<>?48AB= CDB7D4@@<EF; 
7?46AO9 GEFDB=EF64 >B@CPRF9DAB= E<EF9@O; J<HDB6B9 6OK<E?9A<9; 4A4?B7B-J<HDB6O9 
>B@CPRF9DO; F9A89AJ<S > GEF4AB6>9 E<EF9@ GCD46?9A<S; 6OCB?ASRF BEB5GR J9?P; 
GEFDB=EF64 66B84, 6O6B84 84AAOI; :9EF><= 8<E>; 6EF46<FP H?BCC<-8<E>; CB>DOFO= 
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@47A<FAO@ E?B9@; ID4A<FP < C9D9ABE<FP <AHBD@4J<R; D4ECB;A4FP F<C H4=?4; 
GEF4A46?<64FP CDB7D4@@G; EB;84FP C4C>G 6AGFD< C4CB>. 
 

 

&5<0 1.9. «%2>9AB20 F8D@>2OE :><?PRB5@>2» 
ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 
 

Word dictation. 

�0?8A0BP A;54CRI85 :><?PRB5@=O5 ?>=SB8S =0 0=3;89A:>< S7O:5. 
 

 $45BK<= EFB? (desktop), ;47DG:4FPES (to load), A48C<EP (inscription), A4EFDB=>4 (tuning), 

;4CB@<A4RM99 GEFDB=EF6B (flashcard), EFD9?>4 (arrow), BFB5D4:4FP( to reflect), C4A9?P ;484K 
(taskbar), 89D:4FP(to hold), 6D9@9AAO= ( temporary),FSAGFP, F4M<FP (to drag), 864 D4;4 
A4:4FP >ABC>G @OL< (double-click), AB64S C4C>4 (new folder), 8<4?B7B6B9 B>AB (dialogue 

box), 9@>BEFP (capacity), SD?O> (shortcut) 

 

&5<0 1.10 «"@30=870F8S <8:@>:><?PRB5@=>9 A8AB5<O» 
 

ВOCB?A9A89 BF9ABGAB7B F9EF4 (C8EP@9AAB) 
 

Translate the sentences with different forms of Participles. 

#5@52548B5 ?@54;>65=8S, A>45@60I85 2A52>7<>6=O5 D>@<O ?@8G0AB89: Participle I, 

Participle II, Perfect Participle Active and Perfect Participle Passive. 

 

1. Electromechanical memories depend upon moving mechanical parts for their operation. 2. 

The time required for the computer to locate and transfer data to and from a storage 

medium is called the access time. 3. Being not visible software makes possible the 

effective operation of computer system. 4. Having invented magnetic tapes the Germans 

used them as the secondary storage medium. 5. When properly programmed computers 

don’t make computational errors. 6. Having been introduced in the early 1960s magnetic 

disk storage has replaced magnetic tape storage. 7. The control unit interpreting 

instructions is one of the important parts of any computer system. 8. Data recorded in the 

form of magnetized dots can be arranged to represent coded patterns of bits. 9. As 

contrasted with magnetic tapes magnetic discs can perform both sequential and random 

processing. 10 While having no moving mechanical parts electronic memories can 

transfer data at very high speed. 

 Translate the following word combination. #5@52548B5 A;54CRI85 A;>2>A>G5B0=8S: 
 

�O5<D4FP ;A4K>< A4 D45BK9@ EFB?9, M9?>AGFP @OLPR A4 >ABC>9 #GE> A4 C4A9?< ;484K, 
<AEFDG>J<< EBBF69FEF6GRF, 6IB8<FP 6 E<EF9@G, A4;64A<S < ;A4K>< CDB7D4@@, 5OEFDB 99 
;47DG:49F, 86<74FP >GDEBD @OL<, 7?46AB9 @9AR Windows 7 D4;89?9AB A4 2 B>A4, 
6O5D4AAO= CGA>F @9AR, M9?>AGFP @OLPR A4 E6B5B8AB@ @9EF9 D45BK97B EFB?4, CB;6B?S9F 
<ECB?P;B64FP A4 D45BK9@ EFB?9 <AF9DH9=E �E9@<DAB= C4GF<AO. 
 

 

 

&5<0 1.11 «�0?><8=0RI85 CAB@>9AB20» 
 
ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 

 

Make the writing translation of the texts. 

�O?>;=8B5 ?8AP<5==O9 ?5@52>4 B5:AB>2 ?> 20@80=B0<. "703;02PB5 B5:ABO. 
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1 �4D<4AF 
 

Computers are part of our everyday lives. They have an effect on almost everything you do. 

When you buy groceries at a supermarket, a computer is used with laser and barcode technology 

to scan the price of each item and present a total. Barcoding items (clothes, food and books) 

require a computer to generate the barcode labels and maintain the inventory. Most television 

advertisements and many films use graphics produced by a computer. In hospitals, bedside 

terminals connected to the hospital’s main computer allow doctors to type in orders for blood 
tests and to schedule operations. Banks use computers to look after their customers’ money. In 

libraries and bookshops, computers can help you to find the book you want as quickly as 

possible. 

 

                II �4D<4AF 
 

The computer has made it possible to mechanize much of the information interchange and 

processing that constitute the nervous system of our society. 

The versatility and convenience of the microprocessor has changed the entire architecture of 

modern computer systems. No longer is the processing of information carried out only in the 

computer’s central processing unit. Today there is a trend toward distributing more processing 

capability throughout a computer system, with various areas having small local processors for 

handling operations in those areas. 

There are a number of advantages of distributed processing. First, since many elements of the 

computer can be working on different portions of the same task, the work may be done faster. 

Second, if one element in the network malfunctions, its workload can be shifted to another 

element or shared among several elements, so that the entire work is relatively immune to 

failure. Third, the network can be small enough to be contained within a single laboratory or 

building, or it can be spread out over a wide area. 

 

 

&5<0 1.12  «#@>3@0<<8@>20=85» 
 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 

 

Translate the sentences with Nominative with the Infinitive. 

#5@52548B5 ?@54;>65=8S, A>45@60I85 8=D8=8B82=O9 >1>@>B. 
 

1. Printers are known to vary greatly in performance and design. 2. They are expected to be 

the most commonly used devices. 3. Magnetic fields are supposed to affect a high iron 

content of the ink. 4. The ink-jet printer is started to be one of the newest types of 

character printers. 5. Electro photographic techniques proved to have developed from the 

paper copier technology. 6. An impact printer is considered to produce a printed 

character font against the paper. 7. Dot-matrix printers seem to have a lower quality of 

type. 8. The most common printer type used on larger systems is sure to be the line 

printer. 9. A lot of techniques are believed to be used in the design of printers. 10. A laser 

is certain to be an acronym for light amplification by stimulated emission of radiation. 

 

 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 
 

Decode such abbreviations and translate them. 

$0AH8D@C9B5 A;54CRI85 011@5280BC@O 8 ?5@52548B5 8E. 
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PC; PU; CU: ALU; CPU; MPU; IBM; DOS; CRT; ROM; RAM; IC; SSI; MSI; LSI: VLSI; MP; 

CD; I/O; IOP;  CMI;  CAL. 

 

 

 

 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (GEFAB) 
 

Translate into English. 

#5@52548B5 A;>2>A>G5B0=8S =0 0=3;89A:89 S7O:. 

 

%;>2>A>G5B0=8S:  
 �BCGEF<FP BL<5>G CD< A45BD9 web-48D9E4; EC<EB> ?R5<@OI E4=FB6; 8?S CDBE@BFD4 6 
E9F<; <E>4FP F9@O 6B �E9@<DAB= C4GF<A9;  E6S;4AO CD< CB@BM< 7<C9DF9>EFB6OI EEO?B>; 
CD98BEF46?9AAO= 8?S >4:8B= web-EFD4A<JO; EB89D:4F web-EFD4A<JG CB G@B?K4A<R; 6 
;46<E<@BEF< BF E>BDBEF< CB8>?RK9A<S > E9F< �AF9DA9F; EBID4A<FP 7D4H<K9E>B9 
<;B5D4:9A<9 E <AF9DA9F-EFD4A<JO; EB89D:<F EEO?>G A4 E4=F; @B:9F EB89D:4FP 6D98AO9 
>B@CPRF9DAO9 6<DGEO; 9:97B8A4S ?<J9A;<S <EF9>49F; CDB7D4@@4 B5A4DG:9A<S 6<DGEB6. 
 

&5<0 1.13 «#@028B5;8 $>AA88»; «%8AB5<0 3>AC40@AB25==>3> C?@02;5=8S» 
 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 

 

 Try to identify the meaning of the following notions. Match the words with their 

definitions. 

#>?OB09B5AP >?@545;8BP 7=0G5=85 A;54CRI8E ?>=SB89. %>>B=5A8B5 A;>20 A 8E 
>?@545;5=8S<8. 

 

an absolute monarch 

a dictator 

a constitutional monarch 

monarchy 

the royal family 

anti-monarchical 

 

 

a system of government by a 

monarch 

in opposition to monarchy 

a ruler who has total power 

over his country and who 

ruthlessly (:9EFB>B) rules his 

country 

a monarch who has unlimited 

power 

a monarch whose power is 

limited by a constitution 

the family of a king or queen 

 

&5<0 1.14 «  5=546<5=B 8 <5=5465@O»;  «'AB@>9AB2> =0 @01>BC» 
 

ВOCB?A9A89 BF9ABGAB7B 7484A8я (C8EP@9AAB) 
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Make the translation of these texts and do tasks to them. 

#5@52548B5 A;54CRI85 B5:ABO 8 2O?>;=8B5 7040=8S : =8< ?> 20@80=B0<. 
 

                                                         

                                                                     Text 1 

1. To begin your job search, you must identify the kind of job you want, where the jobs are 

and what employers expect. 

2. If you are a student or a graduate of a vocational, technical or professional (university) 

training programme and you have the same interests, you already know the kind of job 

you want. 

3. Begin by thinking about the work you can do. Include the work you have been trained to 

do, work you have actually done and work you enjoy doing. 

4. Next, talk to as many people as possible about your job interests and concerns. 

5. Thinking and talking help you build a network of people interested in helping you. 

6. This network will lead to specific job contacts. 

7. However job counseling is also useful. 

8. Job counseling is a professional service that may include vocational interest and aptitude 

testing; informing and advising about particular jobs; and providing training and 

guidance in the various steps at a job search. 

 

1. Find in the text the equivalents of the following word combinations. 

!0948B5 2 B5:AB5 Q:2820;5=BO A;54CRI8E A;>2>A>G5B0=89. 
 

#B<E>< D45BFO, CDBH9EE<BA4?PAB9 GK95AB9 ;46989A<9, CDBH9EE<BA4?PAO9 >BAF4>FO, 
E?G:54 FDG8BGEFDB=EF64, CDB69D>4 CDBH9EE<BA4?PAB= CD<7B8ABEF< < <AF9D9EB6, B5GK9A<9 
< DG>B6B8EF6B. 
 

2. Answer the questions. 

"B25BPB5 =0 2>?@>AO. 
1. What must you do to begin your job search? 

2. What must you include when thinking about the work you can do? 

3. How can you build a network of people interested in helping you? 

4. What is job counseling? 

5. Does it provide training and guidance? 

 

 

                                                    Text 2 

1. Employers want to select employees who have or who can learn the skills necessary to do 

the job. 

2. Most employers will not hire people who are not dependable or who cannot get along 

with others. 

3. Thus, they want to learn as much as possible about the skills, dependability and personal 

characteristics of prospective employees. 

4. Depending on the job you are applying for, you might have to complete an application 

form, participate in one or more employment interviews, submit a resume, take a test, 

have a physical examination or submit references, samples of your work and copies of 

your school records. 

5. Each of these steps in the employment process provides the employer with important 

information about you. 

 

3. Find in the text the equivalents of the following words and word combinations. 

!0948B5 2 B5:AB5 Q:2820;5=BO A;54CRI8E A;>2 8 A;>2>A>G5B0=89. 
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#D98CD<A<@4F9?<, D45BFA<><, A46O><, BF5BD D45BFA<>4 (A48T:ABEFP D45BFA<>4), 
?<KAO9 >4K9EF64, CD9F9A8B64FP A4 (D45BFG), E84FP Q>;4@9A, CDB=F< @98<J<AE>B9 
B5E?98B64A<9, CD98EF46<FP D9;R@9 < D9>B@9A84J<<. 
 

4. Which statements are correct? 

�0:85 CB25@645=8S ?@028;P=O5? 
 

1. Employers want to select only such employees who already have the necessary skills. 

2. Most employers will hire only dependable people. 

3. Employers want to learn all except your personal characteristics. 

4. You might have to take a test when applying for a job. 

5. You are never requested to submit references or school records. 

 

                                                         Text 3 

1. Many people believe that answering newspaper want ads is the best method to use. 

2. Job advertisements are found in the classified advertising section of newspapers. 

3. Want ads are also found in professional journals. 

4. There are two main types of want ads: <Help wanted= and <Jobs wanted=. 
You should read want ads for two reasons: first, to learn more general information about 

jobs that are available; second, to learn specific information about a particular job that is 

of interest to you. 

5. An ad may tell the education and work experience that are required for the job, the 

location of the job, the working hours and the pay.  

6. It also tells you how to apply for the particular job. 

7. Avoid ads that make unrealistic offers. 

8. If an ad suggests that you will make a lot of money quickly and easily, do not apply for 

that job. 

 

5  Find in the text the equivalents of the following words and word combinations. 

!0948B5 2 B5:AB5 Q:2820;5=BO A;54CRI8E A;>2 8 A;>2>A>G5B0=89. 
 

"5NS6?9A<9, CB8IB8SM4S D45BF4, CDBH9EE<BA4?PAO9 :GDA4?O, B5NS6?9A<9 B CD<T@9 A4 
D45BFG, «&D95GRFES A4 D45BFG», «�MG D45BFG», CDBH9EE<BA4?PAO= BCOF, 
@9EFBA4IB:89A<9 H<D@O, D45BK<= 89AP, BC?4F4, A9D94?PAO9 CD98?B:9A<S, ;4D45BF4FP 
@AB7B 89A97. 
 

6. Say in a few words, what documents you must prepare bofore applying for a job. 

%:068B5 2 =5A:>;P:8E A;>20E, :0:85 4>:C<5=BO =5>1E>48<O ?@8 ?@8T<5 
=0 @01>BC. 
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4. ("!�/ "*�!"+!/) %$��%&� ��/ #$" ��'&"+!"� 
�&&�%&�*�� 

 

&5<0 2.1   $0745;O 48AF8?;8=O  %�*.03. �=>AB@0==O9 S7O: (2 :C@A 3-4 A5<5AB@O) 
 

                                       �>=B@>;P=0S @01>B0 № 1 
!07=0G5=85 
("% CD98A4;A4K9A 8?S BJ9A>< D9;G?PF4FB6 BE6B9A<S GK95AB= 8<EJ<C?<AO <ABEFD4AAO= 
S;O>. 
(>@<0 ?@><56CB>G=>9 0BB5AB0F88 

�<HH9D9AJ<DB64AAO= ;4KTF 
�0GTB ?@>2>48BAS 2 2845 >BAFDB?PAB= D45BFO. 
�>;8G5AB2> 20@80=B>2 4;S >1CG0RI8EAS – 1 

�@5<S 2O?>;=5=8S: 40 <8=CB 
�040=8S:  9EFB<@9A<S. �<8B6D9@9AAO9 HBD@O 7?47B?B6. �9>E<>4 CB F9@9. 
'<5=8S: KF9A<9 
 

                                         ����!�/ ��/ "�'+�.-��"%/ 

 

            �040=8S :>=B@>;P=>9 @01>BO 4;S :>=B@>;S CA2>5=8S 3@0<<0B8:8 

�>=B@>;P=0S @01>B0 ?@54AB02;5=0 2 2845 <FB7B6B7B ?9>E<>B-7D4@@4F<K9E>B7B F9EF4 E 
;484A<S@<, FD95GRM<@< 8BCB?A<FP CD98?B:9A<S < C9D969EF< <I A4 DGEE><= S;O>. 
�=AB@C:F8S ?> 2O?>;=5=8R 

�A<@4F9?PAB CDBK<F4=F9 ;484A<9 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< 6O CB?GK49F9 1 54??. 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 20 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S – 40 @<AGF. 
 

�>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
Complete and translate the sentences into Russian. 

 

1. Each country has&&system of education. 
a) its                   b) it’s               c) it 
2. These students &&&.graduate from the college next year. 
a) were               b) are                c) will 

3. His parents sent&&&&to the grammar school. 

a) him                 b) his                 c) he 

4. Children&&&..secondary education at school. 

a) has got             b) gets                 c) get 

5. Many students &&&&&in hostels. 

a) live                   b) lives                c) to live 

6. Throughout &&&country there is a network of higher educational establishment. 
a) them                 b) their                c) theirs 

7. Comprehensive schools&&&&all types of secondary education.  
a) has combined   b) combined        c) combines  

8. The first university&&&.founded in 1755 in Moscow on the initiative of M.V. 
Lomonosov. 

a) to be                 b) was                  c) were 
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9. Colleges&&&..different courses. 
a) offer                  b) to offer            c) is offering 

10. Some students failed&&&..entrance exams. 

a) ours                   b) their                 c) mine 

11. What departments&&&..there in your institution? 

a) are                      b) is                     c) were 

12. Our environment must be&&&.. . 
a) clean                   b) dirty                 c) fast 

13. Many species of animals live free of danger from man&&& 

a) homes                b) boxes               c) national parks 

14. Cars and factories&&&&the air. 

a) pollute                b) pollutes            c) is polluting 

15. Progress can be blamed in&&&problems. 
a) much                   b) many                c) little 

16. Air and water&&&.to all countries. 
a) belong                  b) belongs            c) belonged 

17. Our forests can die&&&&..acid rain. 

a) with                      b) to                      c) from 

18. Most of the&&&..are valued for fur. 

a) animals                 b) fish                   c) insects 

19. Using chemicals may &&& the cause of ecological pollution. 

a) be                          b) had                    c) are 

20. The construction of purifying systems helps to&&&.ecology. 
a) damage                  b) improve            c) to harm 

 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
;484A<S. 
 

"5BDG8B64A<9: F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
 

�<F9D4FGD4 8?S B5GK4RM<IES (ECD46BKA4S, @9FB8<K9E>4S < 8D.): 4A7?B-DGEE><= < 
DGEE>B-4A7?<=E><= E?B64DP. 
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�>;8G5AB2> 20@80=B>2: 1 
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�=AB@C:F8S ?> 2O?>;=5=8R 
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�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< – 1 54??. 
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 4>E<@4?PAB9 6D9@S 6OCB?A9A<S: 40 @<AGF. 
�>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
Complete and translate the sentences into Russian. 

 

1 Each country has&&system of education. 
a) its                   b) it’s               c) it 
2. These students &&&.graduate from the college next year. 



 24 

a) were               b) are                c) will 

3. His parents sent&&&&to the grammar school. 
a) him                 b) his                 c) he 

4. Children&&&..secondary education at school. 
a) has got             b) gets                 c) get 

5. Many students &&&&&in hostels. 
a) live                   b) lives                c) to live 

6. Throughout &&&country there is a network of higher educational establishment. 
a) them                 b) their                c) theirs 

7. Comprehensive schools&&&&all types of secondary education.  
a) has combined   b) combined        c) combines  

8. The first university&&&.founded in 1755 in Moscow on the initiative of M.V. 
Lomonosov. 

a) to be                 b) was                  c) were 

9. Colleges&&&..different courses. 
a) offer                  b) to offer            c) is offering 

10. Some students failed&&&..entrance exams. 
a) ours                   b) their                 c) mine 

11. What departments&&&..there in your institution? 
a) are                      b) is                     c) were 

12. Our environment must be&&&.. . 
a) clean                   b) dirty                 c) fast 

13. Many species of animals live free of danger from man&&& 

a) homes                b) boxes               c) national parks 

14. Cars and factories&&&&the air. 
a) pollute                b) pollutes            c) is polluting 

15. Progress can be blamed in&&&problems. 
a) much                   b) many                c) little 

16. Air and water&&&.to all countries. 
a) belong                  b) belongs            c) belonged 

17. Our forests can die&&&&..acid rain. 
a) with                      b) to                      c) from 

18. Most of the&&&..are valued for fur. 
a) animals                 b) fish                   c) insects 

19. Using chemicals may &&& the cause of ecological pollution. 
a) be                          b) had                    c) are 

20. The construction of purifying systems helps to&&&.ecology. 
a) damage                  b) improve            c) to harm 
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1. a 

2. c 

3. a 

4. c 

5. a 

  

 

6. b 

7. b 

8. b 

9. a 

10. b 

11. a 

12. a 

13. c 

14. a 

15. b 

16. a 

17. c 

18. a 

19. a 

20. b 
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2-4 BL<5>< – 4 54??4 
5-6     BL<5B> -   3 54??4 
7 < 5B?99 BL<5B> – 2 54??4 
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+0ABP 1. �>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
                Complete the sentences and translate them into Russian. 

 

1. You communicate with your computer with&&.. . 
a) the pencil                   b) the keyboard            c) the ball 

2. &&&&..the monitor allow to see the results of your work? 
a) Does                           b) Is                              c) Have 

3. The mouse works by&&&&.it around on a flat surface. 
a) sliding                         b) scratching                 c) smiling 

4. Computer technologies save &&&&time. 
a) much                            b) many                        c) none 

5. At present computers capable of performing billions of operations a 

second&&&.required. 
a) is                                   b) are                             c) was 

6. The size of a hard disk is measured in&&&& . 
a) centimeters                    b) megabytes                 c) volts 

7. Today the word <electronics= is in &&&&&.usage. 
a) negative                          b) rare                            c) general 

8. People waste a lot of time&&&&&..computer games. 
a) playing                            b) to play                        c) play 

9. There &&..many hardware pieces in a computer system. 

a) was                                  b) has                               c) are 

10. &&&..some programs be difficult to remember. 
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a) Can                                   b) Was                             c) Is 

11. Mobile telephones calls&&..a wide geographic area. 

a) cross                                  b) is crossing                    c) was crossing 

12. Office clerks&&&..and greeted each other after the weekend and discussed the 
weather. 

a) meet                                   b) is meeting                         c) met 

13. &&&&&..secretary is constantly answering phone calls. 

a) Theirs                                 b) Their                                 c) They 

14. I&&&&like to speak to Mr. Smith, please. 
a) should                                  b) would                               c) will 

15. A mobile telephone&&&&telephone calls. 
a) can make and receive        b) can sell                        c) can’t make and receive 
16. &&&&&is a standard way to send messages that include multimedia content to and 

from mobile phones. 

a) SMS                                   b) MMS                         c) Telephone call 

17. Does any office have phones? - &&&. 
a) No, she doesn’t                   b) Yes, she does             c) Yes, it does 
18. It &&&.necessary for a company to have good equipment. 

a) were                                     b) is                                c) will 

19. There are many different models of mobile phones in the world. 

a) Yes, you are right                  b) No, I can’t agree      c) This is known.  

some specialists only                                   

 

 

+0ABP2. #5@52548B5 2O@065=8S =0 @CAA:89 S7O:. 
               Translate the statements into Russian. 

 

1. B5D454FO64S <AHBD@4J<R 

a) processing information   b) the processed information  c) to process information 

2. @B7?< G6<89FP D9;G?PF4FO 

a) can see results                       b) were able to see results       c) was able to see results 

3. CD<ASFP F9?9HBAAO= ;6BAB> 
a) to receive the call                    b) receiving the call                 c) received a call 

4. >BC<DGS F9>EF 
a) the copied text                      b) is copying the text              c) copying the text 

5. 8B?:9A 5O? C9D9;6BA<FP 
a) must ring                              b) is to ring                              c) had to ring 

6. CBCD<69FEF6B64FP E9>D9F4DS 
a) to greet the secretary      b) greeting the secretary        c) greeted the secretary 

7. BF69K4S A4 F9?9HBAAO= ;6BAB> 
a) is answering the call       b) to answer the call               c) answering the call 

8. CBEO?4S EBB5M9A<9 
a) sent the SMS                   b) sending the SMS              c) are sending the SMS 

9. @B7 GEF4AB6<FP CDB7D4@@AB9 B59EC9K9A<9 
a) will be allowed to install software    b) will be able to install software c) was able to install 

10. CD98EF46<FP >B@C4A<R 

a) to represent the company     b) represented the company  c) representing the company 

11. E@B:9F GEF4AB6<FP 
a) could install                           b) will be able to install         c) is able to install 

12. <7D4S 6 >B@CPRF9DAO9 <7DO 

a) are playing computer games   b) playing computer games    c) was playing 

13. EB;84FP Q?9>FDBAAB9 GEFDB=EF6B 
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a) to make gadget                         b) was to make gadget          c) making gadget 

14. 8B?:9A 5G89F ;4CGEF<FP CDB7D4@@G 
a) has to start the program       b) will have to start the program   c) should start the program 
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+0ABP 1. �>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
                Complete the sentences and translate them into Russian. 

 

      1 You communicate with your computer with&&.. . 
a) the pencil                   b) the keyboard            c) the ball 

2. &&&&..the monitor  allow to see the results of your work? 

a) Does                           b) Is                              c) Have 

3. The mouse works by&&&&.it around on a flat surface. 
a) sliding                         b) scratching                 c) smiling 

4. Computer technologies save &&&&time. 
a) much                            b) many                        c) none 

5. At present computers capable of performing billions of operations a 

second&&&.required. 
a) is                                   b) are                             c) was 

6. The size of a hard disk is measured in&&&& . 
a) centimeters                    b) megabytes                 c) volts 

7. Today the word <electronics= is in &&&&&.usage. 
a) negative                          b) rare                            c) general 

8. People waste a lot of time&&&&&..computer games. 
a) playing                            b) to play                        c) play 

9. There &&..many hardware pieces in a computer system. 
a) was                                  b) has                               c) are 

10. &&&..some programs be difficult to remember. 
a) Can                                   b) Was                             c) Is 

11. Mobile telephones calls&&..a wide geographic area. 
a) cross                                  b) is crossing                    c) was crossing 

12. Office clerks&&&..and greeted each other after the weekend and discussed the 
weather. 

a) meet                                   b) is meeting                         c) met 
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13. &&&&&..secretary is constantly answering phone calls. 
a) Theirs                                 b) Their                                 c) They 

14. I&&&&like to speak to Mr. Smith, please. 
a) should                                  b) would                               c) will 

15. A mobile telephone&&&&telephone calls. 
a) can make and receive        b) can sell                        c) can’t make and receive 
16. &&&&&is a standard way to send messages that include multimedia content to and 
from mobile phones. 

a) SMS                                   b) MMS                         c) Telephone call 

17. Does any office have phones? - &&&. 
a) No, she doesn’t                   b) Yes, she does             c) Yes, it does 
18. It &&&.necessary for a company to have good equipment. 

a) were                                     b) is                                c) will 

19. There are many different models of mobile phones in the world. 

a) Yes, you are right                  b) No, I can’t agree      c) This is known.  

some specialists only                                   

 

�;RG8: 
 

1. b 

2. a 

3. a 

4. a 

5. b 

6. b 

7. c 

8. a 

9. c 

10. a 

11. a 

12. c 

13. b 

14. b 

15. a 

16. b 

17. c 

18. b 

19. a 

 

,:0;0 >F5=>:: 
 

0-1 BL<5B> – 5 54??B6 
2-4 BL<5>< – 4 54??4 
5-6 BL<5B> – 3 54??4 
7 < 5B?99 BL<5B> – 2 54??4 
 

 

+0ABP2. #5@52548B5 2O@065=8S =0 @CAA:89 S7O:. 

               Translate the statements into Russian. 

 

      1 B5D454FO64S <AHBD@4J<R 

a) processing information   b) the processed information  c) to process information 

2. @B7?< G6<89FP D9;G?PF4FO 

a) can see results                       b) were able to see results       c) was able to see results 

3. CD<ASFP F9?9HBAAO= ;6BAB> 
a) to receive the call                    b) receiving the call                 c) received a call 

4. >BC<DGS F9>EF 
a) the copied text                      b) is copying the text              c) copying the text 

5. 8B?:9A 5O? C9D9;6BA<FP 
a) must ring                              b) is to ring                              c) had to ring 

6. CBCD<69FEF6B64FP E9>D9F4DS 
a) to greet the secretary      b) greeting the secretary        c) greeted the secretary 

7. BF69K4S A4 F9?9HBAAO= ;6BAB> 
a) is answering the call       b) to answer the call               c) answering the call 

8. CBEO?4S EBB5M9A<9 
a) sent the SMS                   b) sending the SMS              c) are sending the SMS 
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9. @B7 GEF4AB6<FP CDB7D4@@AB9 B59EC9K9A<9 
a) will be allowed to install software    b) will be able to install software c) was able to install 

10. CD98EF46<FP >B@C4A<R 

a) to represent the company     b) represented the company  c) representing the company 

11. E@B:9F GEF4AB6<FP 
a) could install                           b) will be able to install         c) is able to install 

12. <7D4S 6 >B@CPRF9DAO9 <7DO 

a) are playing computer games   b) playing computer games    c) was playing 

13. EB;84FP Q?9>FDBAAB9 GEFDB=EF6B 
a) to make gadget                         b) was to make gadget          c) making gadget 

14. 8B?:9A 5G89F ;4CGEF<FP CDB7D4@@G 
a) has to start the program       b) will have to start the program   c) should start the program 
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4. c 

5. c 
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8. b 

9. c 

10. a 

11. b 

12. b 

13. a 

14. b 
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�>=B@>;P=0S @01>B0 ?@54AB02;5=0 2 2845 <FB7B6B7B ?9>E<>B-7D4@@4F<K9E>B7B F9EF4 E 
;484A<S@<, FD95GRM<@< 6O5D4FP CD46<?PAO= 64D<4AF <; CD98?B:9AAOI < C9D969EF< 
CD98?B:9A<S A4 DGEE><= S;O>. 
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 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<S – 30 @<AGF. 
 

�>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
Complete the sentences and translate them into Russian. 

 

1. They used the abacus&&&&.information. 
a. to preserve         b. to transmit            c. to transform          d. to classify 

2. They used paper&&&&information. 

a. to preserve          b. to transmit            c. to transform         d. to classify 

3. They used pencil&&&&.information. 

a. to preserve         b. to transmit             c. to transform         d. to classify 

4. The principal distinctive feature of ENIAK is&&&&. . 
a. the using binary notation to represent numbers                   b. the using of electrical 

memory elements and vacuum tubes        c. the storing information as sound waves 

5. The principal distinctive feature of EDWAC is&&&.. . 
a. the using binary notation to represent numbers                b. storing information as sound 

waves                      c. the using transistors of vacuum tubes. 

6. The principal distinctive feature of the 1
st
 Generation of computers is &&. . 

a. the using transistors instead of vacuum tubes 

b. the storing information as sound waves circulating in a column of mercury 

c. the using of integrated circuit 

7. The principal distinctive feature of the 2
nd

 Generation of computers is &.. . 
a. the using transistors instead of vacuum tubes            b. the using binary notation to 

represent numbers            c. the using of integrated circuits 

8. During&&&&computers improved enormously. 
a. the 1950’s and 1960’s    b. the 1920’s and 1930’s     c. the 1940’s and 1950’s 
9. By&&&&..there were 150000 Poug games in American homes. 
a. 1955                              b. 1975                      c. 1965 

10. Steven Wozniak and Steven Jobs invented the Apple computer in&&& . 
a. 1965                               b. 1970                       c. 1976 

11. The Apple Computer Company started in &&&.. . 
a. a family garage    b. the company’s office           c. the University’s laboratory 
12. &&&&&popularized the use of the mouse. 

a. Dandy play station          b. Macintosh computers          c. Electronic watches  

13. Atari inc. In Sunnyvale was founded in &&&. . 
a. 1982                                b. 1962                     c. 1972 

14. &&&&&&. displays the processed data. 

a. Processor                     b. Monitor                        c. Keyboard 

15. &&&&.. is a set of instructions, written in a special computer language, telling the 
computer what to do. 

a. Program                       b. Information                   c. Data 

16. &&&&&&enables the information to the fed into the computer. 

a. Output device               b. Input device                 c. Storage device 

17. &&&&..is the part of the computer where programs and data can be stored. 
a. Main memory                      b. Software                          c. Hardware 
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18. &&&&&..is the electronic unit at the centre of the computer system which 
contains the processor and the main memory. 

a. VDU                        b. CPU                      c. Software 

19. &&&&&&&is an output device which prints the output of the CPU onto paper. 

a. Magnetic disks               b. Monitor                    c. Printer 
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�>?>;=8B5 8 ?5@52548B5 ?@54;>65=8S =0 @CAA:89 S7O:. 
Complete the sentences and translate them into Russian. 

      1They used the abacus&&&&.information. 
a. to preserve         b. to transmit            c. to transform          d. to classify 

2. They used paper&&&&information. 
a. to preserve          b. to transmit            c. to transform         d. to classify 

3. They used pencil&&&&.information. 
a. to preserve         b. to transmit             c. to transform         d. to classify 

4. The principal distinctive feature of ENIAK is&&&&. . 
a. the using binary notation to represent numbers                   b. the using of electrical 

memory elements and vacuum tubes        c. the storing information as sound waves 

5. The principal distinctive feature of EDWAC is&&&.. . 
a. the using binary notation to represent numbers                b. storing information as sound 

waves                      c. the using transistors of vacuum tubes. 

6. The principal distinctive feature of the 1
st
 Generation of computers is &&. . 

a. the using transistors instead of vacuum tubes 

b. the storing information as sound waves circulating in a column of mercury 

c. the using of integrated circuit 

7. The principal distinctive feature of the 2
nd

 Generation of computers is &.. . 
a. the using transistors instead of vacuum tubes            b. the using binary notation to 

represent numbers            c. the using of integrated circuits 

8. During&&&&computers improved enormously. 
a. the 1950’s and 1960’s    b. the 1920’s and 1930’s     c. the 1940’s and 1950’s 
9. By&&&&..there were 150000 Poug games in American homes. 
a. 1955                              b. 1975                      c. 1965 

10. Steven Wozniak and Steven Jobs invented the Apple computer in&&& . 
a. 1965                               b. 1970                       c. 1976 

11. The Apple Computer Company started in &&&.. . 
a. a family garage    b. the company’s office           c. the University’s laboratory 
12. &&&&&popularized the use of the mouse. 
a. Dandy play station          b. Macintosh computers          c. Electronic watches  

13. Atari inc. In Sunnyvale was founded in &&&. . 
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a. 1982                                b. 1962                     c. 1972 

14. &&&&&&. displays the processed data. 

a. Processor                     b. Monitor                        c. Keyboard 

15. &&&&.. is a set of instructions, written in a special computer language, telling the 
computer what to do. 

a. Program                       b. Information                   c. Data 

16. &&&&&&enables the information to the fed into the computer. 
a. Output device               b. Input device                 c. Storage device 

17. &&&&..is the part of the computer where programs and data can be stored. 
a. Main memory                      b. Software                          c. Hardware 

18. &&&&&..is the electronic unit at the centre of the computer system which 
contains the processor and the main memory. 

a. VDU                        b. CPU                      c. Software 

19. &&&&&&&is an output device which prints the output of the CPU onto paper. 

a. Magnetic disks               b. Monitor                    c. Printer 

 

 

�;RG8: 
 

1. c 

2. a 

3. a 

4. b 

5. a 

6. b 

7. a 

8. a 

9. b 

10. c 

11. a 

12. b 

13. c 

14. b 

15. a 

16. b 

17. a 

18. b 

19. c 

 

,:0;0 >F5=>:: 
 

19 CD46<?PAOI BF69FB6 – 5 54??B6 
18-15 CD46<?PAOI BF69FB6 – 4 54??4 
14-11 CD46<?PAOI BF69FB6 – 3 54??4 
10 < @9APL9 – 2 54??4 
 

 

 

 
                                      �>=B@>;P=0S @01>B0 № 4 
!07=0G5=85: ("% CD98A4;A4K9A 8?S BJ9A>< D9;G?PF4FB6 BE6B9A<S GK95AB= 8<EJ<C?<AO 
<ABEFD4AAO= S;O> (4A7?<=E><=) 
(>@<0 ?@><56CB>G=>9 0BB5AB0F88: 8<HH9D9AJ<DB64AAO= ;4KTF. 
�0GTB ?@>2>48BAS 2 2845 >BAFDB?PAB= D45BFO. 
�>;8G5AB2> 20@80=B>2 4;S >1CG0RI8EAS: 1 
�@5<S 2O?>;=5=8S: 30 <8=CB. 
�=0=8S: "EAB6AO9 >B@CPRF9DAO9 F9D@<AO. %?B:AB9 CD98?B:9A<9. �AH<A<F<6. 
#D<K4EF<9 1. �9DGA8<=. %FD484F9?PAO= ;4?B7. 
'<5=8S: +F9A<9 < C9D96B8 F9>EFB6 E CDBH9EE<BA4?PAB= A4CD46?9AABEFPR. 
 

                                          ����!�3 ��3 "�'+�2-�)%3 

 

�040=8S :>=B@>;P=>9 @01>BO 4;S :>=B@>;S CA2>5=8S ;5:A8:8 8 3@0<<0B8:8. 
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�>=B@>;P=0S @01>B0 ?@54AB02;5=0 2 2845 <FB7B6B7B ?9>E<>B-7D4@@4F<K9E>B7B F9EF4 E 
;484A<S@<, FD95GRM<@< 6O5D4FP CD46<?PAO= 64D<4AF <; CD98?B:9AAOI < C9D969EF< 
CD98?B:9A<S A4 DGEE><= S;O>. 
�=AB@C:F8S ?> 2O?>;=5=8R: 
�A<@4F9?PAB CDBK<F4=F9 ;484A<9 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< 6O CB?GK49F9 1 54??. 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 25. 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<S – 40 @<AGF. 
 

�O1@0BP >B25B 87 B@TE 20@80=B>2. 
Choose the right answer. 

 

1. E?G:54 >BDBF><I EBB5M9A<= 

a) CPU;            b) SMS;            c) MMS 

2. BEAB64F9?P >BDCBD4J<< Apple 

a) Gates             b) Bushnell       c) Jobs 

3. binary notation 

a) system using 0 and 1;          b) system using 0-9;           c) system using letters 

4. antivirus 

a) program that spreads viruses;     b) program that stops viruses;       c) educational program 

5 I~I 

4) ECSM<=             b)8D4;A<?>4 E 6OEGAGFO@ S;O>B@          E) D48BEFAO= 

6. e-mail 

a) postal service;         b) on-line educational program         c) multimedia guard 

7. BEAB64F9?P >BDCBD4J<< Microsoft 

a) Gates                   b) Bushnell                   c) Jobs 

8.:-))) 

a) GEF4?O= < A98B6B?PAO=              b) ECSM<=             E) D48BEFAO= 

9. virus 

a) computer system;               b) infection;                 c) www; 

10.<Ctrl> 

a) >?46<L4 6EF46><            b) >ABC>4 E5DBE4         E)  GCD46?SRM4S >?46<L4  
11. Google 

a) browser                        b) message                  c) loop 

12. matrЁshka@com.ru 

a) part of a computer;         b) e-mail address;        c) SMS 

13. ROM 

 a) 8BCB?A<F9?PA4S C4@SFP   b) "�'                   E) #�' 

14. ;.( 

4) D48BEFAO=                 b) DO84RM<=               E) CB8@<7<64RM<= 

15. PASCAL 

a) programming language;       b) operating system;     c) archived program 

16. Prompt 

a) CB8E>4;>4        b) A4;64A<9 S;O>4 CDB7D4@@<DB64A<S     E) CDB7D4@@<EF  
17. URL 

4) <AF97D4J<S 6OEB>B7B GDB6AS         b) GA<69DE4?PAO= G>4;4F9?P D9EGDEB6 
E) GA<69DE4?PAO= S;O> @B89?<DB64A<S 
18. :@) 

4) C9K4?PAO=                       b) D4EEFDB9AAO=              E) EK4EF?<6O= >4> 
CBDBETAB>  
19. Macintosh 

a) pocket calculator              b) computer brand              c) playstation 

mailto:matrЁshka@com.ru
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20. «;46<E4FP» 
a) hang up;                            b) Hi-fi;                     c) handling 

21. Hi-fi 

a) high-frequency;                 b) high-fidelity;         c) high-level 

22.:-E 

a) >?O>4EFO= 64@C<D;          b) D48BEFAO=;           E) ECSM<=  
23. floppy-disk 

a) :TEF><= 8<E>;             b) 7<5><= 8<E>           E) GA<69DE4?PAO= <AF9DH9=E  
24. GEFDB=EF6B BCF<K9E>B7B EK<FO64A<S 
a) lazer;                     b) modem;                     c) scanner 

25. Mb 

a) memory-control block;              b) motherboard;                c) megabyte 

 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
;484A<S. 
"5BDG8B64A<9: F9>EF, ?<EF, 5G@474, >B@CPRF9D. 
         

 

                                       #���& #$�#"����&��/ 

 

'A;>28S 2O?>;=5=8S 7040=8S: 
"5BDG8B64A<9: >B@CPRF9D, F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< – 1 54?? 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 25. 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<S: 40 @<AGF. 
 

�O1@0BP >B25B 87 B@TE 20@80=B>2. 
Choose the right answer. 

 

1 E?G:54 >BDBF><I EBB5M9A<= 

a) CPU;            b) SMS;            c) MMS 

2. BEAB64F9?P >BDCBD4J<< Apple 

a) Gates             b) Bushnell       c) Jobs 

3. binary notation 

a) system using 0 and 1;          b) system using 0-9;           c) system using letters 

4. antivirus 

a) program that spreads viruses;     b) program that stops viruses;       c) educational program 

5 I~I 

4) ECSM<=             b)8D4;A<?>4 E 6OEGAGFO@ S;O>B@          E) D48BEFAO= 

6. e-mail 

a) postal service;         b) on-line educational program         c) multimedia guard 

7. BEAB64F9?P >BDCBD4J<< Microsoft 

a) Gates                   b) Bushnell                   c) Jobs 

8.:-))) 

a) GEF4?O= < A98B6B?PAO=              b) ECSM<=             E) D48BEFAO= 

9. virus 

a) computer system;               b) infection;                 c) www; 

10.<Ctrl> 

a) >?46<L4 6EF46><            b) >ABC>4 E5DBE4         E)  GCD46?SRM4S >?46<L4  
11. Google 

a) browser                        b) message                  c) loop 

12. matrЁshka@com.ru 

mailto:matrЁshka@com.ru
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a) part of a computer;         b) e-mail address;        c) SMS 

13. ROM 

 a) 8BCB?A<F9?PA4S C4@SFP   b) "�'                   E) #�' 

14. ;.( 

4) D48BEFAO=                 b) DO84RM<=               E) CB8@<7<64RM<= 

15. PASCAL 

a) programming language;       b) operating system;     c) archived program 

16. Prompt 

a) CB8E>4;>4        b) A4;64A<9 S;O>4 CDB7D4@@<DB64A<S     E) CDB7D4@@<EF  
17. URL 

4) <AF97D4J<S 6OEB>B7B GDB6AS         b) GA<69DE4?PAO= G>4;4F9?P D9EGDEB6 
E) GA<69DE4?PAO= S;O> @B89?<DB64A<S 
18. :@) 

4) C9K4?PAO=                       b) D4EEFDB9AAO=              E) EK4EF?<6O= >4> 
CBDBETAB>  
19. Macintosh 

a) pocket calculator              b) computer brand              c) playstation 

20. «;46<E4FP» 
a) hang up;                            b) Hi-fi;                     c) handling 

21. Hi-fi 

a) high-frequency;                 b) high-fidelity;         c) high-level 

22.:-E 

a) >?O>4EFO= 64@C<D;          b) D48BEFAO=;           E) ECSM<=  
23. floppy-disk 

a) :TEF><= 8<E>;             b) 7<5><= 8<E>           E) GA<69DE4?PAO= <AF9DH9=E  
24. GEFDB=EF6B BCF<K9E>B7B EK<FO64A<S 
a) lazer;                     b) modem;                     c) scanner 

25. Mb 

a) memory-control block;              b) motherboard;                c) megabyte 

 

�;RG8: 
1. b 

2. c 

3. a 

4. b 

5. a 

6. a 

7. a 

8. c 

9. b 

10. c 

        11.a 

        12. b 

        13. c 

        14. b 

        15. a 

         16. a 

         17. b 

         18. c 

         19. b 

         20. a 

          21. b 

          22. a 

          23. b 

          24. c 

          25.c 

 

,:0;0 >F5=>:: 
 

25-24 CD46<?PAOI BF69FB6 – 5 54??B6 
20-23 CD46<?PAOI BF69FB6 – 4 54??4 
12-19 CD46<?PAOI BF69FB6 – 3 54??4 
11 < @9APL9 – 2 54?? 
 

 

 

 

&5<0 2.3 $0745;O 48AF8?;8=O %�*.03. �!"%&$�!!/� /�/� � 
#$"(�%%�"!��0!"� ��/&��0!"%&� (4 :C@A 7-8 A5<5AB@O) 
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!07=0G5=85: ("% CD98A4;A4K9A 8?S BJ9A>< D9;G?PF4FB6 BE6B9A<S GK95AB= 8<EJ<C?<AO 
<ABEFD4AAO= S;O> (4A7?<=E><=). 
(>@<0 ?@><56CB>G=>9 0BB5AB0F88: 8<HH9D9AJ<DB64AAO= ;4KTF 
�0GTB ?@>2>48BAS 2 2845 >BAFDB?PAB= D45BFO. 
�>;8G5AB2> 20@80=B>2 4;S >1CG0RI8EAS: 1 
�@5<S 2O?>;=5=8S: 40 <8=CB 
�=0=8S: 'E?B6AB9 A4>?BA9A<9. �BCDBE<F9?PAO9 CD98?B:9A<S. %?B:AO9 E?B64. �9>E<>4 
CB F9@9. 
'<5=8S: KF9A<9 < C9D96B8 F9>EFB6 E CDBH9EE<BA4?PAB= A4CD46?9AABEFPR. 
 

����!�3 ��3 "�'+�2-��"%3 

 

           �040=8S :>=B@>;P=>9 @01>BO 4;S :>=B@>;S CA2>5=8S ;5:A8:8 

 

�>=B@>;P=0S @01>B0 ?@54AB02;5=0 2 2845 <FB7B6B7B ?9>E<>B-7D4@@4F<K9E>B7B F9EF4 E 
;484A<S@<, FD95GRM<@< 6O5D4FP CD46<?PAO= 64D<4AF <; CD98?B:9AAOI < C9D969EF< 
CD98?B:9A<S A4 DGEE><= S;O>. 
 

�=AB@C:F8S ?> 2O?>;=5=8R: 
�A<@4F9?PAB CDBK<F4=F9 ;484A<9. 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< 6O CB?GK49F9 1 54??. 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 20. 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<S – 40 @<AGF. 
 

�O15@8B5 ?@028;P=O9 >B25B. 
Circle the correct item. 

 

1. Her&&.as a dancer came to an end when she broke her leg. 
a) profession;            b)job;             c) career;          d) occupation 

2. My father has been unable to find a&&&& for the past two years. 
a) profession;             b) job;            c) career;          d) occupation 

3. You must write your name, age and&&&.on the application forms. 
a) profession;             b) job;             c) career;          d) occupation 

4. John is a doctor by&&&&and has his own practice in London. 
a) profession;              b) job;             c) career;          d) occupation 

5. My parents were a great&&&&&&.to me when I lost my job. 
a) confidence;              b) mature;        c) support;       d) courage 

6. The contacts I had, helped me&&&&when I was looking for a job. 
a) get my foot at the door;     b) novice;    c) face;       d) socialize 

7. Salespeople need to be&&&..to get people to buy their products. 

a) persuasive;              b) brave;        c) creative;           d) patient 

8. Teachers need to be very&&&&as students sometimes take a long time to learn things. 
a) intelligent;                b) polite;              c) patient;            d) friendly 

9. Surgeons must be very&&&&.as they should not make mistakes in their work. 
a) intelligent;                  b) accurate;           c) fair;                d) friendly 

10. Judges should be&&&..and give all the evidence equal consideration. 

a) persuasive;                  b) accurate;           c) fair;                 d) intelligent 

11. &&&..work in places from which you can buy books. 
a) librarians;                      b) booksellers;     c) publisher;     d) editor 

12. &&&..uses scientific knowledge to develop machines. 

a) firefighter;                  b) mechanic;             c) engineer;     d)lifeguard 

13. I was made&&&..when the company closed down. 
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a) fired;               b) redundant;                  c) hired;            d) trained 

14. If you want&&&&&for the job you should write to the company. 
a) appoint;            b) apply;                c) employ;              d) be on probation 

15. Ann is very&&&.worker, I can always depend on her if I want something on time. 
a) helpful;             b) persistent;           c) selfish;            d) reliable 

16. Seb is a(n)&&&..person, he always sees positive side of even the most difficult 
situation. 

a) selfish;              b) generous;              c) optimistic;      d) stubborn 

17. Mary is very&&&..; when I have a lot of work to do. 
a) helpful;               b) impatient;              c) generous;        d) stubborn 

18.She&&&&.for a job as a nanny in Madrid. 
a) looks;                  b) is looking;              c) to look;          d) has been looking 

19. He usually&&&&his office at 6.00 p.m. 
a) leaves;                  b) is leaving;       c) has left;                d) leaved 

20. Please bring a copy of your&&&.when you come from your interview. 
a) CV;              b) application form;   c) advertising;      d) section of newspaper  

 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
;484A<S. 
"5BDG8B64A<9: F9>EF, ?<EF, 5G@474, >B@CPRF9D. 
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'A;>28S 2O?>;=5=8S 7040=8S: 
"5BDG8B64A<9: >B@CPRF9D, F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< – 1 54??. 
 4>E<@4?PAB9 >B?<K9EF6B 54??B6 – 20. 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S – 40 @<AGF. 
 

 

�O15@8B5 ?@028;P=O9 >B25B. 
Circle the correct item. 

 

      1 Her&&.as a dancer came to an end when she broke her leg. 

a) profession;            b)job;             c) career;          d) occupation 

2. My father has been unable to find a&&&& for the past two years. 
a) profession;             b) job;            c) career;          d) occupation 

3. You must write your name, age and&&&.on the application forms. 
a) profession;             b) job;             c) career;          d) occupation 

4. John is a doctor by&&&&and has his own practice in London. 
a) profession;              b) job;             c) career;          d) occupation 

5. My parents were a great&&&&&&.to me when I lost my job. 
a) confidence;              b) mature;        c) support;       d) courage 

6. The contacts I had, helped me&&&&when I was looking for a job. 
a) get my foot at the door;     b) novice;    c) face;       d) socialize 

7. Salespeople need to be&&&..to get people to buy their products. 
a) persuasive;              b) brave;        c) creative;           d) patient 

8. Teachers need to be very&&&&as students sometimes take a long time to learn things. 
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a) intelligent;                b) polite;              c) patient;            d) friendly 

9. Surgeons must be very&&&&.as they should not make mistakes in their work. 
a) intelligent;                  b) accurate;           c) fair;                d) friendly 

10. Judges should be&&&..and give all the evidence equal consideration. 
a) persuasive;                  b) accurate;           c) fair;                 d) intelligent 

11. &&&..work in places from which you can buy books. 

a) librarians;                      b) booksellers;     c) publisher;     d) editor 

12. &&&..uses scientific knowledge to develop machines. 
a) firefighter;                  b) mechanic;             c) engineer;     d)lifeguard 

13. I was made&&&..when the company closed down. 

a) fired;               b) redundant;                  c) hired;            d) trained 

14. If you want&&&&&for the job you should write to the company. 
a) appoint;            b) apply;                c) employ;              d) be on probation 

15. Ann is very&&&.worker, I can always depend on her if I want something on time. 
a) helpful;             b) persistent;           c) selfish;            d) reliable 

16. Seb is a(n)&&&..person, he always sees positive side of even the most difficult 

situation. 

a) selfish;              b) generous;              c) optimistic;      d) stubborn 

17. Mary is very&&&..; when I have a lot of work to do. 
a) helpful;               b) impatient;              c) generous;        d) stubborn 

18.She&&&&.for a job as a nanny in Madrid. 

a) looks;                  b) is looking;              c) to look;          d) has been looking 

19. He usually&&&&his office at 6.00 p.m. 
a) leaves;                  b) is leaving;       c) has left;                d) leaved 

20. Please bring a copy of your&&&.when you come from your interview. 
a) CV;              b) application form;   c) advertising;      d) section of newspaper  

 

�;RG8: 
1. c 

2. b 

3. d 

4. a 

5. c 

6. a 

7. c 

8. c 

9. b 

10. c 

11. b 

12. c 

13. a 

14. b 

15. d 

16. c 

17. a 

18. b 

19. a 

20. a 

 

,:0;0 >F5=>:: 
 

1-12 ;484A<= 69DAOI – 0-2 54??4 
13-15 ;484A<= 69DAOI – 3 54??4 
16-18 ;484A<= 69DAOI – 4 54??4 
19-20 ;484A<= 69DAOI – 5 54??B6 
 

 

 

                                                    �>=B@>;P=0S @01>B0 № 6 
 

!07=0G5=85: ("%  CD98A4;A4K9A 8?S BJ9A>< D9;G?PF4FB6 BE6B9A<S 8<EJ<C?<AO 
<ABEFD4AAO= S;O> (4A7?<=E><=). 
(>@<0 ?@><56CB>G=>9 0BB5AB0F88: 8<HH9D9AJ<DB64AAO= ;4KTF 
�0GTB ?@>2>48BAS 2 2845 >BAFDB?PAB= D45BFO. 
�>;8G5AB2> 20@80=B>2 4;S >1CG0RI8EAS: 1 
�@5<S 2O?>;=5=8S: 60 <8=CB. 
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�=0=8S: �<8B6D9@9AAO9 HBD@O 7?47B?B6. %?B:AO9 E?B64. #D98?B7<. #D<K4EF<S. �9>E<>4 
CB F9@9. 
'<5=8S: +F9A<9 < C9D96B8 F9>EFB6 E CDBH9EE<BA4?PAB= A4CD46?9AABEFPR. 
 

����!�3 ��3 "�'+�2-��"%3 

 

�040=8S :>=B@>;P=>9 @01>BO 4;S :>=B@>;S CA2>5=8S ;5:A8:8 8 3@0<<0B8:8 

�>=B@>;P=0S @01>B0 ?@54AB02;5=0 2 2845 <FB7B6B7B ?9>E<>B-7D4@@4F<K9E>B7B F9EF4 E 
;484A<S@<, FD95GRM<@< 6O5D4FP CD46<?PAO= BF69F <; CD98?B:9AAOI < C9D969EF< 
CD98?B:9A<S A4 DGEE><= S;O>. 
 

�=AB@C:F8S ?> 2O?>;=5=8R: 
�A<@4F9?PAB CDBK<F4=F9 ;484A<9. 
�4 >4:8O= CD46<?PAO= BF69F 6 QFB@ ;484A<< 6O CB?GK49F9 1 54??. 
�B?<K9EF6B F9EFB6OI ;484A<=: 44 . +4EFP 1 – 15 ;484A<= 

                                                             +4EFP 2 – 10 ;484A<= 

                                                             +4EFP 3 – 8 ;484A<= 

                                                              +4EFP 4 -11 ;484A<=. 
 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<= – 60 @<AGF. 
 

+0ABP 1. %>AB028BP ?0@O Q:2820;5=B>2. 
                Choose the equivalents. 

 

1. CD98CD<SF<9 
2. C?4F9: 

3. K4EFAB9 CD98CD<SF<9 
4. FB64D<M9EF6B 
5. >BDCBD4J<S 
6. CB>GC>4 
7. A4?B7 
8. BF69FEF69AABEFP 
9. 8B?7 
10. CD<5O?P 
11. 4>J<BA9D 
12. >4C<F4?B6?B:9A<9 
13. J9A4 
14. EG@@4 
15. 4>J<S 

a) investment 

b) debt 

c) enterprise 

d) profit 

e) tax 

f) payment 

g) responsibility 

h) partnership 

i) stockholder 

j) price 

k) proprietorship 

l) share 

m) corporation 

n) purchase 

o) amount 

 

+0ABP 2. �0?8H8B5 3;03>;O 2 D>@<0E ?@>H54H53> ?@>AB>3> 2@5<5=8 8      ?@8G0AB8S 
2. 

                  Put down the verbs in Past Simple and Participle II. 

 

1. to lose 

2. to get 

3. to obtain 

4. to declaire 

5. to sell 

 

6. to own 

7. to invest 

8. to hold 

9. to mean 

10. to buy 

 

+0ABP 3. !0?8A0BP C:070==O5 2OH5 D>@<O 2 A>>B25BAB2CRI8E D>@<0E 
AB@040B5;P=>3> 70;>30. 
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Put down the verbs into Passive Voice. 

 

1. are investing 

2. was selling 

3. had obtained 

4. bought 

5. wick have issued 

6. will mean 

7. will get 

8. loses 

 

+0ABP 4. �>?>;=8B5 ?@54;>65=8S. 
                Complete the sentences. 

 

1. If you want to&&money go to the bank. 
a) get;              b) spend;             c) test 

2. He&&.a car last month. 
a) will buy;       b) bought;           c) get 

3. The shareholders don’t know what risks they are&&. . 
a) involves;        b) had involved;      c) involved 

4. There is no hope of getting the&&.. . 
a) loss;                b) profit;                  c) accounting 

5. At the meeting they&&&for the new director. 
a) involve;           b) vote;                   c) had 

6. Any company always &&& a  lawyer. 
a) need;               b) may;                   c) to be 

7. You&&&&pay taxes last month. 

a) can;                  b) had to;                 c) will give 

8. The corporation&&.. act like a person. 
a) may;                 b) were to;               c) are to 

9. They&&&..to combine their resources. 

a) have;                 b) has;                      c) will 

10. I&&&..obtain loan from your company. 

a) could;                b) might;                  c) am 

11. They&&.sell assets to pay debts. 
a) must;                  b) play;                    c) could 

 

�484A<S @B:AB 6OCB?ASFP 6 ?R5B= CBE?98B64F9?PABEF<, A9 ;45G8PF9 G>4;4FP AB@9D 
;484A<S. 
"5BDG8B64A<9: F9>EF,  ?<EF, 5G@474, AB:A<JO. 
�<F9D4FGD4 8?S B5GK4RM<IES: 4A7?B-DGEE><9 < DGEE>B-4A7?<=E><9 E?B64D<. 
                    

 

                                     #���& #$�#"����&��/ 

 

'A;>28S 2O?>;=5=8S 7040=8S: 
"5BDG8B64A<9: >B@CPRF9D, F9>EF ;484A<S, ?<EF 5G@47<, DGK>4. 
�B?<K9EF6B F9EFB6OI ;484A<=: 44  
+4EFP 1 – 15 ;484A<= 
+4EFP 2 – 10 ;484A<= 
+4EFP 3 -  8 ;484A<= 
+4EFP 4 – 11 ;484A<= 
 

 4>E<@4?PAB9 6D9@S 6OCB?A9A<S ;484A<S – 60 @<AGF 
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+0ABP 1. %>AB028BP ?0@O Q:2820;5=B>2. 
                Choose the equivalents. 

 

16. CD98CD<SF<9 
17. C?4F9: 

18. K4EFAB9 CD98CD<SF<9 
19. FB64D<M9EF6B 
20. >BDCBD4J<S 
21. CB>GC>4 
22. A4?B7 
23. BF69FEF69AABEFP 
24. 8B?7 
25. CD<5O?P 
26. 4>J<BA9D 
27. >4C<F4?B6?B:9A<9 
28. J9A4 
29. EG@@4 
30. 4>J<S 

a) investment 

b) debt 

c) enterprise 

d) profit 

e) tax 

f) payment 

g) responsibility 

h) partnership 

i) stockholder 

j) price 

k) proprietorship 

l) share 

m) corporation 

n) purchase 

o) amount 

 

+0ABP 2. �0?8H8B5 3;03>;O 2 D>@<0E ?@>H54H53> ?@>AB>3> 2@5<5=8 8 ?@8G0AB8S 2. 
                  Put down the verbs in Past Simple and Participle II. 

 

11. to lose 

12. to get 

13. to obtain 

14. to declaire 

15. to sell 

 

16. to own 

17. to invest 

18. to hold 

19. to mean 

20. to buy 

 

+0ABP 3. !0?8A0BP C:070==O5 2OH5 D>@<O 2 A>>B25BAB2CRI8E D>@<0E 
AB@040B5;P=>3> 70;>30. 
Put down the verbs into Passive Voice. 

 

9. are investing 

10. was selling 

11. had obtained 

12. bought 

13. wick have issued 

14. will mean 

15. will get 

16. loses 

 

+0ABP 4. �>?>;=8B5 ?@54;>65=8S. 
                Complete the sentences. 

 

      1 If you want to&&money go to the bank. 
a) get;              b) spend;             c) test 

2. He&&.a car last month. 
a) will buy;       b) bought;           c) get 

3. The shareholders don’t know what risks they are&&. . 
a) involves;        b) had involved;      c) involved 

4. There is no hope of getting the&&.. . 
a) loss;                b) profit;                  c) accounting 

5. At the meeting they&&&for the new director. 
a) involve;           b) vote;                   c) had 

6. Any company always &&& a  lawyer. 
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a) need;                 b) may;                   c) to be 

7. You&&&&pay taxes last month. 
a) can;                    b) had to;                 c) will give 

8. The corporation&&.. act like a person. 
a) may;                    b) were to;               c) are to 

 9. They&&&..to combine their resources. 
a) have;                     b) has;                      c) will 

10. I&&&..obtain loan from your company. 
a) could;                     b) might;                  c) am  

11. They&&.sell assets to pay debts. 
a) must;                        b) play;                    c) could 

 

,:0;0 >F5=>: 

 

42-44 CD46<?PAOI BF69FB6 – 5 54??B6 
35-41 CD46<?PAOI BF69FB6 – 4 54??4 
20-34 CD46<?PAOI BF69FB6 – 3 54??4 
19 < @9APL9 – 2 54??4 
 

�;RG8: 

1 

1.c, 2.f, 3.k, 4.h, 5.m, 6.n, 7.e, 8.g, 9.b, 10.d, 11.i, 12.a, 13.j, 14.o, 15.l. 

 

2. 

    1.lost, lost 

    2. got, got 

    3. obtained, obtained 

4. declared, declared 

5. sold, sold 

6. owned, owned 

7. invested, invested 

8.held, held 

9.meant, meant 

10. bought, bought 

 

3. 

1. are being invested 

2. was being sold 

3. had been obtained 

4. was (were) bought 

5. will have been issued 

6. will be meant 

7. will be got 

8. is lost 

 

4. 

1.a, 2.b, 3.c, 4.b, 5.b, 6.a, 7.b, 8.a, 9.a, 10.a, 11.a. 
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1.1 �H4A4EP964 ".�.  �A7?<=E><= S;O> : 11 >?4EE: 54;B6O= GDB69AP / ".�.�H4A4EP964, 
�.�. <I9964, �. .�4D4AB64. – 8-9 <;8., EF9D9BF<C. –  .: #DBE69M9A<9, 2021. – 199, [1} c.: 

<?. – (Rainbow English). 

1.2 �<EFB? �.#. �A7?<=E><= S;O>: >B@CPRF9D < �AF9DA9F / �<EFB? �.#., &RA<A4 
�.�. – $BEFB6 A\� ; (9A<>E, 2015. – 222E. – (�<5?<BF9>4 EFG89AF4). 
 

 

2.�BCB?A<F9?PA4S ?<F9D4FGD4:  

 

2.1  �B?G596 �.#. �A7?<=E><= S;O> 8?S F9IA<K9E><I EC9J<4?PABEF9= = English for 

Technical Colleges : GK95A<> 8?S EFG8 GKD9:89A<= ED98. CDBH. B5D4;B64A<S / �.#.�B?G596, 
�.#.�BD:46O=, �.� %@<DAB64. –  .: �;84F9?PE><= J9AFD «�>489@<S», 2016, 208E. 
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